alphabet in the following text?

g g ¢ere (ursa wr) # SiSh & a2 quifart Y S g o1 quifart f e w1 AT w=aT 8?
Ad;={c8%S556((+B/;, H&r]]](u];#~K@>83<??/STvx %" (d)L:/<-N347))) 2;: 5+ ESH##H [w) "..;/89

Options:-

.17, Option ID :- 2089,

. 37, Option ID :- 2090,

. 53, Option ID :- 2091,

. 63, Option ID :- 2092,
Answer Given:- 63, Option ID : -2092

Question ID:- 527

In a four-digit PIN, the third digit is the product of the first two digits and the fourth digit is zero.
The number of such PINs is

ok IR- 3R O |, fieRT sich uget gt sichl o Urthet @ iR =T 3k 3 81 8« o=l h s @
Options:-

.42, Option ID :- 2105,
. 41, Option ID :- 2106,
. 40, Option ID :- 2107,

. 39, Option ID :- 2108,
Answer Given:- 42, Option ID : -2105

Question ID:- 525
A plant grows by 10% of its height every three months. If the plant’s height today is 1 m, its height
after one year is the closest to

Uk U R <19 /g A Sroeht Sand &1 10 % ag Siran g1 afe aid it Sarg emer 1 # 8, uas af ugyq
g9l FuTs T fAcheaw A @

Options:-

.1.10 m, Option ID :- 2097,
« 1.21 m, Option ID :- 2098,
. 1.33 m, Option ID :- 2099,

. 1.46 m, Option ID :- 2100,
Answer Given:- 1.46 m, Option ID : -2100

Question ID:- 518
Given plot describes the motion of an object with time.

500 4

—_
5 400 | .
Q
=
£ 300 .
—
£ 200 .
(%]
s
2 100 ¢ .

0 -+ v

0 1 2 3 4 5
Time (hour)

Which one of the following statements is CORRECT?
R o s TRl avg Y wwa & wry e qafar @i




feafafea d 9 9o syT g &2

500 ;

S 400 | .
[=]
=
£ 300 - .
—3
£ 200 .
[¥]
o
@ 100 | .

o+ .

0 1 2 3 4 5
Time (hour)
Options:-

. The object is moving with a constant velocity.

a¥g {31 & 9= 7@ 81, Option ID :- 2069,

. The object covers equal distance every hour.

g U ©e ® §HIE g a9 el g1, Option ID :- 2070,

. The object is accelerating.
awg w@ruiRfie @1, Option ID :- 2071,

. Velocity of the object doubles every hour.

a&g & 7fa ucdes b2 & a1g SR g St &1, Option ID :- 2072,
Answer Given:- The object is accelerating.

awg @ruiRfier g1, Option ID : -2071

Question ID:- 526




Starting from the top of a page and pointing downward, an ant moves
according to the following commands

Start

¥
Repeat actions in curly brackets 3 times

Repeat actions in the box 4 times
tMove forward 100 units}

¥
~ Turn right by 90 degrees &
4+
Turn left by 30 degrees
"~ J
Of the following paths
A B

c / D

Which is the correct path of the ant?




Tt & oM & TSy T 3 A i 3T TFF A g, v il
frrafofe andelt & gar Tod §

Start

4
Repeat actions in curly brackets 3 times

Repeat actions in the box 4 times
[Move forward 100 units}

4
Turn right by 90 degrees

+
Turn left by 30 degrees

fArafaf@a oar 7 @

c / o

Y =7 TEY T FFErE?

Options:-

.A, Option ID :- 2101,
. B, Option ID :- 2102,
. C, OptionID :- 2103,

. D, Option ID :- 2104,
Answer Given:- B, Option ID : -2102

Question ID:- 515

The squares in the following sketch are filled with digits 1 to 9, without any repetition, such that
the numbers in the two horizontal rows add up to 20 each. What number appears in the square
labelled A in the vertical column?

g g ¥ R & arf 1 @ 9 st |, fomm farelt off sier il glgera g, 5@ awg R g € &6 ude dfas
Uf<h & 3ichl T GRT 20 g1 Ief TRT &, A @ Adferd aif & 19 91 3ich 1T 82

Options:-
IR & 3Rl & TN &k ITMTT A 39 AT g1 fohaT SI1 Yehdt 21

It cannot be ascertained in the absence of the sum of the numbers in the column, Option ID :-




2057,
. 3, Option ID :- 2058,
. 5, Option ID :- 2059,

. 7, Option ID :- 2060,
Answer Given:- 5, Option ID : -2059

Question ID:- 519
If one letter each is drawn at random from the words CAUSE and EFFECT, the chance that they are
the same is

gfe 2real CAUSE 3R EFFECT & @ Udleh @ Ueh quifer a1gdeh w9 @ Rhren ST, 39 g1 & g @t
& A amna @
Options:-

.1/30, Option ID :- 2073,
. 1/11, Option ID :- 2074,
. 1/10, Option ID :- 2075,

. 2/11, Option ID :- 2076,
Answer Given:- Not Attempted

Question ID:- 516

Sections A, B, C and D of a class have 24, 27, 30 and 36 students, respectively. One section has
boys and girls who are seated alternately in three rows, such that the first and the last positions
in each row are occupied by boys. Which section could this be?

foreft sren & |a=r=t A, B, C @ D # faenffxl & Tz srasr: 24, 27, 30 3R 36 21 Teh @ d dsah
3R wTsferai & St Uah & a1 Uah, i dfehal & 39 avg a3 & for ucdes ufth & ugeht ok sifaw =
TSRl T WR &1 T <RI 1 JaE ghm?

Options:-

.A, Option ID :- 2061,
. B, Option ID :- 2062,
. C, Option ID :- 2063,

. D, Option ID :- 2064,
Answer Given:- B, Option ID : -2062

Question ID:- 520

A vehicle has tyres of diameter 1 m connected by a shaft directly to gearwheel A which meshes
with gearwheel B as shown in the diagram. A has 12 teeth and B has 8. If points x on A and y on B
are initially in contact, they will again be in contact after the vehicle has travelled a distance (in
meters)

U aTgd & 1 H 0¥ & eR Ua R (Aue) R WY g farufge A | 532 € ot i frarufge B @
Rargar war 81 A 7 12 3id & sk B # 8 §1 afk A ur fRa faig x, B wx f[Ra freft fig y @ uer A
Hudh A g, arg & fohaeit gt (Hiex #) 9 & ugyrq @ fig q=: dudh 7 emgi?

-~
F
’
I )
Al
A y\ a;
=

Options:-

.27 , Option ID :- 2077,
. 31, Option ID :- 2078,
. 47t , Option ID :- 2079,




. 127, Option ID :- 2080,
Answer Given:- Not Attempted

Question ID:- 531
A boy has kites of which all but 9 are red, all but 9 are yellow, all but 9 are green, and all but 9 are
blue. How many kites does he have?

Teh ©iSch & UTH Uil g [Si94 4 9 oht B A9 It &1 €, 9 ot St A aft fi<ht €, 9 =l =iz 2w asfi
g &, ok 9 ohl Big Aw T3ft et &1 Figah & U fohait Uit &2
Options:-

.12, Option ID :- 2121,
. 15, Option ID :- 2122,
. 9, Option ID :- 2123,

. 18, Option ID :- 2124,
Answer Given:- 12, Option ID : -2121

Question ID:- 528

After 12:00:00 the hour hand and minute hand of a clock will be perpendicular to each other for
the first time at

g3 & b g e 3R a1 g1y 12:00:00 & 9T UYH IR ST URER dadd giil, 9g 999 &
Options:-

.12:16:21, Option ID :- 2109,
. 12:15:00, Option ID :- 2110,
. 13:22:21, Option ID :- 2111,

. 12:48:08, Option ID :- 2112,
Answer Given:- Not Attempted

Question ID:- 521

A liar always lies and a non-liar, never. If in a group of n persons seated around a round-table
everyone calls his/her left neighbor a liar, then

Teh AT gHRT ST FiedT g 3R Ueh Teardt ot oft sraea a8 aierar g1afe v M daa &
g 3R R 7 33 n aafhal & ag 7 @ uds @d & arfl ik A3 =tk ot sragard! &g, at

Options:-
.all are liars.

gt srgeardl €1, Option ID :- 2081,

. nmust be even and every alternate person is a liar

n @l Ueh Y9 THET g1 3TaTeh & 3R Ui~k TR 93T Uleh aafwh 3rd«ard) &1, Option ID :- 2082,

. n must be odd and every alternate person is a liar

n @At Ueh faws =T g1 3iTaedeh @ 3R UahT=iR UR 93T Ul aafh 3ra«ardl g1, Option ID :- 2083,

. n must be a prime
n Ueh TS &1 g1, Option ID :- 2084,
Answer Given:- Not Attempted

Question ID:- 534
How many rectangles are there in the given figure?

few g A A fhaa emaa &2




Options:-

.6, Option ID :- 2133,
. 7, Option ID :- 2134,
. 8, Option ID :- 2135,

. 9, Option ID :- 2136,
Answer Given:- 7, Option ID : -2134

Question ID:- 530

I have a brother who is 4 years elder to me, and a sister who was 5 years old when my brother
was born. When my sister was born, my father was 24 years old. My mother was 27 years old
when | was born. How old (in years) were my father and mother, respectively, when my brother
was born?

R Gk 9T & 98 G319 4 9 9371 8, 3R GeF a8 @ a8 5 avf it ot S/ W 91 1 S+ gorm uT| S /)
& T ST 3T AT, W fOran &Y oy 24 af <of1 St A4 511 gon @@ F¥ 74 Hr arg 27 af ot s/@ R
0TS T ST o AT« ¥R frar @ /i i oy, sFen: (auf #) et o2

Options:-

.29 and 23
29 g 23, Option ID :- 2117,

. 27 and 25
27 9 25, Option ID :- 2118,

. 27 and 23
27 a 23, Option ID :- 2119,

. 29 and 25

29 g 25, Option ID :- 2120,
Answer Given:- 29 and 23
29 9 23, Option ID : -2117

Question ID:- 522

The correct pictorial representation of the relations among the categories PLAYERS, FEMALE
CRICKETERS, MALE FOOTBALLERS and GRADUATES is

fEenfaal, afgen fohdhe’l, gou Featerl, ik Frde! & daut & = daut o gt g uef= 8

A B Cc D

23\ = O\

B

M

Options:-

.A, Option ID :- 2085,
. B, Option ID :- 2086,
. C, Option ID :- 2087,

. D, Option ID :- 2088,
Answer Given:- A, Option ID : -2085




Question ID:- 532
Tokens numbered from 1 to 25 are mixed and one token is drawn randomly. What is the

probability that the number on the token drawn is divisible either by 4 or by 6?
wegifehe 1 ® 25 a1e tepA1 ol RS favar strar g ofk Ua el argfde wu @ diar siran g1 @i

Y Eteh=T UR TAT <Rl HI AT At 4 @ a1 6 T WTSY g1, 39h! urfehdr fahat &2
Options:-

.8/25, Option ID :- 2125,
. 10/25, Option ID :- 2126,
. 9/25, Option ID :- 2127,

. 12/25, Option ID :- 2128,
Answer Given:- 8/25, Option ID : -2125

Question ID:- 533

A beam of square cross-section is to be cut out of a wooden log. Assuming that the log is
cylindrical, what approximately is the largest fraction of the wood by volume that can be fruitfully
utilised as the beam?

RS & Yok A @ PTRR IFTITA-HTE T Tk A h1er ST &1 I8 A4 gY fF g1 de- e @,
TIa & f@ara @ dardt a1 T fohaar Sifderan sier (M) ATvEre i & &9 & Iught & «ran
ST 9ehaT @ ?

Options:-

«49%, Option ID :- 2129,
« 64%, Option ID :- 2130,
« 71%, Option ID :- 2131,

« 81%, Option ID :- 2132,
Answer Given:- 64%, Option ID : -2130

Question ID:- 517

In a round-robin tournament, after each team has played exactly four matches, the number of
wins/ losses of 6 participating teams are as follows

Team | Win | Loss
A 4 0
B 0 4
C 3 1
D 2 2
E 0 4
F 3 1

Which of the two teams have certainly NOT played with each other?

Qo Teh-ufaaifar (Ide-Afa gafde) d udds a9 gR1 R IR A9 @« g & a1, 6 ufaaih &9t &
Sfid/gR & 91 39 YR 8




-nrnUom:r:ﬂ’
womwo-&-%
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1
2
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1

Fidt &t &t A TR & faeg afar adi Qe g ?

Options:-

.AandB
A 3iR B, Option ID :- 2065,

.CandF
C 3R F, Option ID :- 2066,

.EandD
E 3R D, Option ID :- 2067,

.BandE
B 3iR E, Option ID :- 2068,

Answer Given:- B and E
B 3R E, Option ID : -2068

Subject : 702_PARTB_CSIR_SEPT22_SET1_BIL

Question ID:- 153

The longest mountain chain on the Earth is

quft R Ge et uda sjEen @

Options:-

.Himalaya

f@nrera , Option ID :- 609,

. Mid-Atlantic ridge

He-3ieTifeeh eheeh , Option ID :- 610,
« Andes

&St Option ID :- 611,

. Alps
3T , Option ID :- 612,
Answer Given:- Not Attempted

Question ID:- 144

A seismic phase which has undergone a single reflection is
Qe et =ror foras gk &t wrada gen g, at @

Options:-
-PKIKP , Option ID :- 573,
. pPcP , Option ID :- 574,




. PP, Option ID :- 575,

« PKP , Option ID :- 576,
Answer Given:- PKP , Option ID : -576

Question ID:- 135

Development of the Earth’s tidal bulge on the opposite direction of the moon is best explained by:
<gHT Y fRAudia Rz & gecft & sarfiy IR & R ZRT 999 <) avg O AT T @

Options:-
.Centripetal Force
3ifAhe} &1, Option ID :- 537,

. Gravitational force
T[&Tehy T &< , Option ID :- 538,

. Centrifugal force

31qeh=dl 1, Option ID :- 539,

. Coriolis force

sifRefad =1, Option ID :- 540,

Answer Given:- Centrifugal force
31qch=} 1, Option ID : -539

Question ID:- 131

Which planet has the highest orbital angular momentum?
forg ug =1 Sefta Fivfig Gan S=aq giar &2

Options:-
.Jupiter

ggwufa , Option ID :- 521,

. Saturn
Y, Option ID :- 522,

. Mars
It , Option ID :- 523,

. Earth
gedt, Option ID :- 524,
Answer Given:- Not Attempted

Question ID:- 122

Which of the following is NOT an example of isomorphic mineral pairs?

Frafaf@a § @ o= aaedt @fs gt @ e 78 82

Options:-

.Pyrite and Marcasite
UTE’Ise 3R ATeRidTSE , Option ID :- 485,

. Rutile and Pyrolusite

weTgd SR UrRIegdTse , Option ID :- 486,

. Calcite and Siderite

chewrge 3ik fA3wrse, Option ID :- 487,




. Barite and Anhydrite
aR13e 3R ggserse, Option ID :- 488,
Answer Given:- Not Attempted

Question ID:- 151

In a cloud formation mechanism, cloud base and cloud top, respectively, are represented by

e fAmfor d31 A, TEe SUR SR ared fAER, s, ZRT &A1Y Sd &

Options:-

.Planetary boundary layer and Level of free convection
ugl it WAT R 3R Y=k Hag &1 &R, Option ID :- 601,

. Planetary boundary layer and Lifting condensation level
Tgl i HiAT uve SR Iaar g Hu== wR, Option ID :- 602,
. Lifting condensation level and Level of free convection
I&dT T Ha= &R 3R ok Hag= &1 &, Option ID :- 603,

. Planetary boundary layer and Level of saturation
ugl it Tr e ik Hqfta @1 &R, Option ID :- 604,

Answer Given:- Not Attempted

Question ID:- 154

Which one of the following rivers of the Ganga system is a perennial, dominantly groundwater-fed
river?

i d@ i fAafafaa ARt d @ Fi9-Hf g grega: o wifta g a4 @2

Options:-
.Son
g, Option ID :- 613,

. Gomti
mHdt, Option ID :- 614,

. Pindar
fi=t, option ID :- 615,

. Yamuna
gyHT, Option ID :- 616,
Answer Given:- Not Attempted

Question ID:- 140

Kepler's third law of planetary motion is represented by which one of the following expressions?
(here P = orbital period;a = semi-major axis of the planetary orbit)

FeR & Ugl A 1fy & AR FPram & F=faf@a d @ v sise gR g2afar T 22 (a8i P = wafl
31afd; a = UGk wen hi sref-rea ar)

Options:-

.P3« a2, Option ID :- 557,

. P24 a3, Option ID :- 558,

. P3 « a3, Option ID :- 559,

. P2 ¢ a2, Option ID :- 560,




Answer Given:- P2 « a3, Option ID : -558

Question ID:- 137

Identify the type of mass movement

Options:-

.Rotational slide
guff ®&e =, Option ID :- 545,

. Rotational slump

goff sraerd , Option ID :- 546,

. Rock fall
9« ure , Option ID :- 547,

« Solifluction

HE™IUT, Option ID :- 548,

Answer Given:- Solifluction

H&doT, Option ID : -548

Question ID:- 143

Which one of the following ore deposits is typically formed by magmatic segregation process?
Frafaf@a § @ o= a1 sraees g smadak wR Avfia gues ag= ufshar gRT o=« 82

Options:-

.Porphyry copper

gifthet sfuR , Option ID :- 569,
. Bauxite

gfedrse , Option ID :- 570,

. Chromite

shiATge , Option ID :- 571,

. Phosphorite
ThiThRTSE , Option ID :- 572,

Answer Given:- Not Attempted

Question ID:- 114
Identify the INCORRECT pair
TTeTd g hi Uga™

Options:-

.Solute load - Dissolved load
faeta R - fa=faa sr, Option ID :- 453,

. Bed load - Traction load
THER YR - T YR, Option ID :- 454,




. Suspended load — Wash Load
fAwfaa wR - o (afer) ¥R, Option ID :- 455,

. Traction load — Solute load

T ¥R - A9 R, Option ID :- 456,
Answer Given:- Traction load — Solute load
T ¥R - A9 R, Option ID : -456

Question ID:- 106

Choose the CORRECT sequence based on albedo of different Earth surfaces.

gt &t faf = wagl & gedist & smur o= 9at srgehd |

Options:-
.Snow > Vegetation > Desert sands > Calm water

th> gawafa> AFEU! 91> *nid U=t , Option ID :- 421,

. Snow > Desert sands > Vegetation > Calm water

Tth> AFE! A1> gEdfa> *1id U=t , Option ID :- 422,

. Calm water > Vegetation > Desert sands > Snow

2T T+t > g=afa > AFEIeA! aref> a7k, Option ID :- 423,

. Calm water > Desert sands > Vegetation > Snow
2Mid T+t > AFIEA areg> g=<afa > ah, Option ID :- 424,

Answer Given:- Not Attempted

Question ID:- 110

Which one of the following is ultimate limiting nutrient (on geological time scales) for ocean
productivity?

HETR 3Tl & forg fAmfaf@a § | w9-a1 o 9w dinia gives a@ (y@a=e a9g & da=
w) &?

Options:-

.Nitrate

Ar1g¢e, Option ID :- 437,

. Phosphate

thidhe , Option ID :- 438,

. Silicate

faferdse , Option ID :- 439,

. Iron
#igr, Option ID :- 440,
Answer Given:- Not Attempted

Question ID:- 118

The mean sea level on the Earth is best approximated by which one of the following?
gt uR I THg d ol G ST A [ | | fovadh gRT & sirar 82

Options:-
-WGS 84 Ellipsoid
Se1eiy 84 qfarcdiss , Option ID :- 469,

. Geoid
fSratss, Option ID :- 470,




. Oblate Spheroid
Sifaeie Wigs, Option ID :- 471,

. Everest Spheroid
QA& Weige , Option ID :- 472,

Answer Given:- Not Attempted

Question ID:- 150

How does the depth of the ocean relate to the age of the ocean floor?

HETHTR 6l TS 9% a1 &l g § hd Hafda 8?2

Options:-

.It increases with age
g TG & °1Y el g, Option ID :- 597,

. It decreases with age

g Y & 1Y el St & , Option ID :- 598,

. It is independent of age
g A ¥ e g, Option ID :- 599,

. It decreases until 55 Ma

g 55 Ma dds el SIret @, Option ID :- 600,
Answer Given:- It increases with age

g Y & 91Y Fd! g, Option ID : -597

Question ID:- 120
Which of the following meteorites are compositionally and texturally similar to terrestrial basalts?
A=faf@a 4 @ &9 @ Senifts @aammE R gamae $i g | =iy duwe & a0 82

Options:-
.Iron meteorites

g SeehIfds , Option ID :- 477,

. Carbonaceous chondrites

FIEHTETH higrged , Option ID :- 478,

. Enstatite chondrites

TS higseH , Option ID :- 479,

. Achondrites

UahigrseH , Option ID :- 480,

Answer Given:- Not Attempted

Question ID:- 145

Which one of the following basins form in collision zones?

frafaf@a & @ sa-ar ge stoft daga &= & a=ar 82

Options:-

.Fore Arc
SFIETY (W 311h) , Option ID :- 577,

. Foreland

3y (wiReAe) , Option ID :- 578,




. Back Arc
urf=Tg (S 311eh) , Option ID :- 579,

. Pull apart
g« Quré, Option ID :- 580,

Answer Given:- Foreland

STy (wiRAS) , Option ID : -578

Question ID:- 148

Which one of the following options is the best way to protect yourself from lightning if you get
caught in an open field during a thunderstorm?

gfg Y TRSTEA THH A G A | e S ¢, af faorelt iR @ g &t a9+ & fog Rafaf@ad @
i 91 ey 99 a1 alanT 82

Options:-

.Lie flat on the ground with your face down

Hg & o SIS o WY | 59, Option ID :- 589,

. Take shelter under the nearest tree

fAerean dz & = smsra &, Option ID :- 590,

« Crouch on your toes.

319+ &R i Ieiferal ur gah1, Option ID :- 591,

. Stand straight up.
g @2 g sd1, Option ID :- 592,
Answer Given:- Lie flat on the ground with your face down

Hg & a1 SHIA R e se S, Option ID : -589

Question ID:- 142
Downward bending of isotherms is commonly observed in which of the tectonic settings?

ATl 1 A Y iR a1 Ir=aa: fha Radfe fmara & 3 sman 82

Options:-
«Subduction zone
YIS S|, Option ID :- 565,

. Volcanic arc environment
ST 9T ar|raroT, Option ID :- 566,

. Craton interior

gheld e13ddax , Option ID :- 567,

. Divergent plate boundary
TR e T, Option ID :- 568,

Answer Given:- Divergent plate boundary

U we A1, Option ID : -568

Question ID:- 152

Which one of the following indicates that the mantle is solid?

fA=afafaa A @ o9 a1 g =ar & fF yar sl 82

Options:-

.Mantle convection




UTaR HagH , Option ID :- 605,

. Phase transformation
TuT yRed= , Option ID :- 606,

. Propagation of S waves
‘T’ a9 T Y9I, Option ID :- 607,

. Subduction of a slab to a depth of 600 km

ek e &1 600 fReft &t 1g=TE deh Wa=a=E, Option ID :- 608,
Answer Given:- Propagation of S waves

‘T’ a9 T Y9I, Option ID : -607

Question ID:- 109

Thunderstorms occur more often in the late afternoon and early evening over land because
afeasi=zm eRA R R Sugr ik ds&-am & 9uy & AR o & it

Options:-

.the atmosphere is mostly stable.
ITaTaRYT SaTETaR fRR glar @1, Option ID :- 433,

. radiational heating and instability are high.

faferzor arg ek sifeA=ErT eifdres gt &1, Option ID :- 434,

. winds are mostly weak.
BAT4 SYTETaR AR gidl &1, Option ID :- 435,

. the atmosphere is mostly dry.
aTaTaRoT 3ifAehar ek gaT g1, Option ID :- 436,
Answer Given:- radiational heating and instability are high.

faferzor ama ek sife=ar eifdes gt &1, Option ID : -434

Question ID:- 138

Which one of the following is an example of impeded sand dune?
fAafafaa A @ o9 a1 seERifdqa 39 fess v IeTgRuT @2

Options:-

.Barchan

ATTehR fe=ar, Option ID :- 549,
. Transverse

31Uy fe=ar , Option ID :- 550,
. Star

amrt fe=ar, Option ID :- 551,

. Parabolic
TRaeifAes feear, Option ID :- 552,

Answer Given:- Not Attempted

Question ID:- 147
In which of the following weather systems the contribution of the Coriolis force can be neglected

in the balance of forces?

Tl & dge H, FIRSAAT a1 & ghre™ 6 Idan, A=faf@a § @ faa @iaw gonet | f s aad
&




Options:-

. Tornado

gdsX, Option ID :- 585,

. Tropical Cyclone

Iwrehfesefia Tshard , Option ID :- 586,
. Monsoon Depression

|G 7, Option ID :- 587,

. Polar Vortex
geffa siaR , Option ID :- 588,
Answer Given:- Not Attempted

Question ID:- 107

Choose the CORRECT statement
gl puA g

Options:-
.Low frequency Rossby waves propagate westward in the northern hemisphere.

A g areft I a<t 3w Meed 7 uffYw Fir ok eredt €1, Option ID :- 425,

. Low frequency Rossby waves propagate eastward in the northern hemisphere.

& Srgfa areft Ah & I Meref & g i o1k Feret &1, Option ID :- 426,

. Low frequency Rossby waves propagate eastward in the southern hemisphere.

& Srgfa areft A a4 af@roft mensf & g i ok deret &1, Option ID :- 427,

. Low frequency Rossby waves propagate eastward along the equator.
& g areft A a9 spred @1 & GTY-91y gd 6 SR et &1, Option ID :- 428,
Answer Given:- Not Attempted

Question ID:- 124

If z and p are depth and density of seawater, respectively then,
the amplitude of internal wave will

afe z AR p HH: YA O B TTex0y AR T 8, AT ATIRD T
1 AT ST

Options:-

increase with decreasing dp/dz
dploz & He & Ty T
Option ID :- 493,

decrease with decreasing dp/dz
dpldz & HeH & WY HH g

Option ID :- 494,
increase with increasing op/éz

8ploz P gl D W1y T |

Option ID :- 495,
. remain independent of changes in dp/dz

dpléz H URad W MR 781 81

Option ID :- 496,

7




Answer Given:- Not Attempted

Question ID:- 136

Water flows in the river channel transporting fine sediment and dissolved material, but its
gradient, form and elevation above sea level remain essentially the same. This type of equilibrium
is defined as

TgT G3HT T T Y URT | AEI deroe R geft gs anvft arfed w=ar 8, @fera @iy a@ @ sadht
UGUTET, U 3R FHaTg ifard ®u & 96 el §1 §9 YR & el ol 36 TR aRyiita farar mar
&

Options:-

.Static

wifder , Option ID :- 541,

. Dynamic

nifasfier, Option ID :- 542,

. Decay

&, Option ID :- 543,

. Cyclic
Tzhig , Option ID :- 544,
Answer Given:- Not Attempted

Question ID:- 132

In areas modified by glaciers, kames represent:
fu=ral gy denifda et & da ufafafda o &
Options:-

.A detached block of glacial ice.
f@w1e ath @1 Uek o1e T =ATaR |1, Option ID :- 525,

. Remnants of disjointed lateral moraines.
3rag uryf f@wie & sraiwi, Option ID :- 526,

. Mounds of stratified sands and gravels.

e 3 3R ot & &1, Option ID :- 527,

. Terraces formed in valley sidewalls due to change in glacial mass balance.
feuTel & gogw= dqe | uRad=T & @Rt arél 7 uref €laRi o= dfkes fAmfon, Option ID :- 528,

Answer Given:- Not Attempted

Question ID:- 155

Radiocarbon activity in a sample is found to be % of the initial activity. If the half-life of the
radiocarbon is 5700 years, then the age (in years) of the sample is

o ufaesf # dgiard= afthaan, i afehaar &t % urft 78 | afy W= & srd-3myg 5700
ay g, at ufaesf & oy (awf ) &

Options:-

.1425, Option ID :- 617,

. 5700, Option ID :- 618,
. 11400, Option ID :- 619,
. 22800, Option ID :- 620,




Answer Given:- 11400, Option ID : -619

Question ID:- 119

Rayleigh waves
& a3

Options:-

.propagate as spherical wavefronts

MATRR a9 &4 J gadt & 1, Option ID :- 473,

. propagate as cylindrical wavefronts

TR a9 & ¥4 J Il & |, Option ID :- 474,

. travel faster than Love waves

a a i g A e fa & Tt €1, Option ID :- 475,

. are generated at the hypocenter by an earthquake
Yehd GRT 3fdch~% U 344 gidt &1, Option ID :- 476,
Answer Given:- propagate as spherical wavefronts

MHATRR a9 9 | g&dt & 1, Option ID : -473

Question ID:- 149

Choose the correct combination of the processes that contribute to the global sea level rise.

af Y T wR | gfg & ahrer 37 areft ufhanai o a@@ d@ate= g1
Options:-

.Arctic sea ice melt, sea surface warming

3rehfeeh Tl ah 1 foraer=T, g &t |ag o1 1 g+, Option ID :- 593,

. Warming of the ocean, land ice melt

HEHFR okl T g+, Y stk &1 fararer=r, Option ID :- 594,

. Antarctic and Arctic sea ice melt

SieTchfedn 3R srrehfeess wxgt ath a1 fwe=m, Option ID :- 595,

. Underwater volcanic eruption, earthquakes
ot & Hfier SaremE fawwle, afg@a, Option ID :- 596,

Answer Given:- Not Attempted

Question ID:- 128

In the context of ecosystem biodiversity evaluation, the species of organisms that are particularly
sensitive to pollutants, human interferences, ecosystem instability or other such disturbances are
referred to as

uiRfRfae a9 Sa RAfduar geaiea & dgaf |, Sfiat 6 vyenfaai st faty w9 @ vewen!, adg
g&agl, qiRfRATAR a1 erfe=ar ar e A ey & ufy Gadeasfiar € o Fersmar e
Options:-

.vulnerable species

g¥e gsnfadi , Option ID :- 509,

. indicator species

Tehdeh wsTTfari , Option ID :- 510,

. sensitive species

Hae-1fter wonfami , Option ID :- 511,




. keystone species
et (hieis) wsifaai , Option ID :- 512,
Answer Given:- indicator species

Tehdeh USTTfar , Option ID : -510

Question ID:- 121

The decrease in P-wave velocity from ~13.6 km/s to ~8.1 km/s is known to be represented by
which of the following discontinuity?

-a3T &k FT H ~13.6 frrl/Ads @ ~8.1 forfi/adhe a & it ot fF=feif@a J @ fra srdadaan grr
g 1iar ST 82

Options:-
-Repetti
A&, Option ID :- 481,

. Lehmann
g9, Option ID :- 482,

. Gutenberg

1=t , Option ID :- 483,

. Conrad

@IS, Option ID :- 484,
Answer Given:- Gutenberg

Te=tert, Option ID : -483

Question ID:- 126

Which one of the following periods is known as the “Age of fishes"?
Frafaf@a 4 @ g o & "wsfomt f sy & a0 J s s1rar 82

Options:-

.Cambrian

&fwa= , Option ID :- 501,

« Ordovician

sirsifafara=, Option ID :- 502,
. Devonian

29ifAg, Option ID :- 503,

« Silurian

fAgfRa=, Option ID :- 504,

Answer Given:- Not Attempted

Question ID:- 139

If the density of a compact rock of sandstone is 2.5 gm/cc, then what will be its density (in
gm/cc), if it is 10% porous and water saturated?

T I3 IR Y Gk Tu A o1 9 2.5 gm/cc §, Tl ag 10% TR 3R ST e g at SR
g9 (gm/cc &) =T ghm?

Options:-
.2.25, Option ID :- 553,
. 2.3, Option ID :- 554,




. 2.35, Option ID :- 555,

« 2.4, Option ID :- 556,
Answer Given:- 2.35, Option ID : -555

Question ID:- 117

The epicentre of a deep focus earthquake is normally located at a depth (in km) of

TR SEHEE aTet Yy T A AT - Y Tevrs (Reht F) e fR_ya gar @

Options:-

.= 700, Option ID :- 465,
. 300 to 700

300 & 700 , Option ID :- 466,
. 70 to 300

70300 , Option ID :- 467,

. 0, Option ID :- 468,
Answer Given:- 0, Option ID : -468

Question ID:- 125

Which one of the following places exposes ‘flysch’ type of sedimentary sequence?
A=fafEa d @ &l a1 U= fRer YR & aesél SIehH &l SSITR &edT 8?

Options:-

.Hyderabad

&<3aTe , Option ID :- 497,
« Mumbai

Harg , Option ID :- 498,

. Port Blair

Tl saR , Option ID :- 499,

. Kolkata
ahietehTdT , Option ID :- 500,

Answer Given:- Not Attempted

Question ID:- 108

Which one of the following is true for a large intraplate earthquake recorded worldwide?
gfFar wr A sifafef@«a g gea sia:@e (e & fag Aol § @ & a1 su= | 82

Options:-
.Both magnitude and intensity decrease with increase in epicentral distance

SifaFda gft 7 gfF & ary aRkmrer iR disar ST ged &, Option ID :- 429,

. Magnitude is constant but intensity varies

ufRaror feR Tgar @ Afeh Ffiear sead w<ft & , Option ID :- 430,

. Both magnitude and intensity are constant

T 3R fierar g1 fRR T@a &, Option ID :- 431,

. Magnitude varies but intensity is constant
qRHATUT IEdT TEdT & S diaar fRAR @<l @, Option ID :- 432,

Answer Given:- Magnitude is constant but intensity varies

gfReTor fRR Tgar & «fer dieaar ae«dt @<t & , Option ID : -430




Question ID:- 127

The strengthening of westerlies with height above the Earth’s surface is attributable to the
gt i gedag @ FUR FATE & QI UFHT ga134l & HSTgd g ol HRUT g

Options:-

.weakening of easterlies with height

AT & GTY YRATE I ASIR AT, Option ID :- 505,

. increasing north-south temperature gradient with height
IR-&f Q0T ATIHT UqoTar # ST & 91Y gfg , Option ID :- 506,
. decreasing atmospheric pressure with height

FaTE & 9Ty argHe gaa # g, Option ID :- 507,

. increasing height of the tropopause towards the equator
Y @1 Y R gitwHea d Fard A gicg, Option ID :- 508,

Answer Given:- Not Attempted

Question ID:- 146

An air mass is characterized by similar properties of ___ and __ in any horizontal direction.

forelt oft e RRam & ___ ok ___ & &w1= 701 ek arg fA Y fastwar gi<dt @1

Options:-
.pressure, temperature
&dTe, dT9HT , Option ID :- 581,

. wind speed, pressure
arg <t nif, gama, Option ID :- 582,

. wind speed, temperature
arg <t nifer, args , Option ID :- 583,

. temperature, moisture
argHT, =t , Option ID :- 584,
Answer Given:- Not Attempted

Question ID:- 130

The stability of the boundary layer can be considered neutral when the vertical gradient of the
potential temperatureis __.

A1 =R FY AT B T GET ST ehdT @ ST U1 argd = &l Heafer yegorar___ gt @1

Options:-
.Equal to the Dry Adiabatic Lapse Rate
[eh TG fawia &R & aRTER, Option ID :- 517,

. Equal to the Moist Adiabatic Lapse Rate
a9 FgIH faeia &% & sR1&R, Option ID :- 518,

. Zero
[, Option ID :- 519,

. Negative
FIhRIHG , Option ID :- 520,
Answer Given:- Not Attempted




Question ID:- 141

Which one of the following is the fastest moving plate?
A=fafEa 9 @ &9 9@ a1 7fa @ R g9 areft w@e 82

Options:-

.Nazca

dTsteRt , Option ID :- 561,
. Eurasia

Tfarar, Option ID :- 562,
. Africa

3rvhYeRT , Option ID :- 563,

. North America
It 3mfRenT, Option ID :- 564,

Answer Given:- Not Attempted

Question ID:- 111

If sea ice constitutes 2% of the ocean water with an average
oxygen isotopic composition (8'*0) of -55%., then what would
be the 60 (in %) of an ice free ocean?

e GGl 6, -55%0 B! G RIS THITHS G3d-l (5°0)
& 1Y, % & U B 2% ¢, o b Gad TSR B 520, %o H
1 gRTI?

Options:-

.0, Option ID :- 441,

. -5.5, Option ID :- 442,

. =11, Option ID :- 443,

. -1.1, Option ID :- 444,
Answer Given:- Not Attempted

Question ID:- 129

A freely suspended magnetic needle will be vertical at
U Wad &9 A FRefda gadhla g o= Seafer ghft

Options:-
.Geographic Equator
e y#ea 3@, Option ID :- 513,

. Geomagnetic Equator
eI YA ¥, Option ID :- 514,

. Geographic poles

Himiferas g@, Option ID :- 515,

. Geomagnetic poles

gereha g[@ , Option ID :- 516,

Answer Given:- Geomagnetic poles

ygereha g[a@ , Option ID : -516




Question ID:- 134

In standard FCCs, red stands for vegetation because:
Aeh YA &, drer a1 aaufa & fag far & aaif:

Options:-

.For strategic purpose, true colours are not disclosed.

Torifaes I82a & forg, srereft Sl et e =gl farar smar @1, Option ID :- 533,

. Green band of the sensor is in shown red.
Td<eh ohl g0 98 o1 91 A f&arar man g1, Option ID :- 534,

. NIR band of the sensor is represented in red.
TAEeh T TSR d8 ATer 91 & g2rfar mar &1, Option ID :- 535,

. Reflectance of chlorophylls is processed as red by the satellite sensor

IYUE Hageh ZRT FARIthel Al URTAieh e a1 § wrenfara e sman 21, Option ID :- 536,
Answer Given:- Green band of the sensor is in shown red.

THAgh &l g0 a8 o1l 91 H Rgrar mar g1, Option ID : -534

Question ID:- 133

Which one of the following is NOT a zonal soil?
A=fafea 9 @ @la-H g asfta ger 78t 82

Options:-
.Podsol
gtsgie, Option ID :- 529,

. Chernozem
I=fst\ , Option ID :- 530,

. Saline and alkaline
@RT 3R &4, Option ID :- 531,

. Pedalfer
g8« , Option ID :- 532,
Answer Given:- Not Attempted

Question ID:- 123

Which ONE of the following equations relates horizontal convergence with vertical motion?

fAefaf@a d @ a9 a1 gfierur afas sifaaror &t Swafar ofa @ sisarg?

Options:-
.Navier-Stokes equation

AfITR-TereT gHieror, Option ID :- 489,

. Vorticity equation

yfAerar gfterzor, Option ID :- 490,

. Geostrophic balance equation

yfaardt dger wefievor, Option ID :- 491,

. Continuity equation
fAawar gefienzur, Option ID :- 492,
Answer Given:- Not Attempted

Question ID:- 116




If the mantle were richer in iron than the present, then its
gf& urar adw 6 gen J oiig 7 s1fde Tg aT g, at 9

Options:-
.gravity and magnetic fields would be the same as the present.

TS 3R gahia & g\ & 99 gid 1, Option ID :- 461,

. gravity field would be the same, but the magnetic field would increase.

o & THH ghm, Afdhe gerdhia & # gfg ghftl, Option ID :- 462,

. gravity field would increase, but the magnetic field would be the same.

o & A gfg ghft, S garehra & @ @ 1, Option ID :- 463,

. both the gravity and magnetic fields would increase.

o 3R gahia & g1 | gfe ghfti, Option ID :- 464,

Answer Given:- Not Attempted

Question ID:- 113

How is the concentration of dissolved organic matter [poc comparable to particulate organic
matter [poc] in the open surface ocean?

HETR & G ¥dg d faef«a s gard [DOC] fi wigar wurhia swrdfaes gerf [POC] &Y ge=m
et @2

Options:-

.[DOC] = [POC] , Option ID :- 449,

. [DOC] = [POC], Option ID :- 450,

. [DOC] = 10 [POC] , Option ID :- 451,

. [POC] = 10 [DOC] , Option ID :- 452,
Answer Given:- Not Attempted

Question ID:- 115

Mercury has no known natural satellite because of its
T T RIS ATd UThideh IUUE T8I &1 TH T HRUT g I

Options:-

.proximity to the sun.

gd & fAeeeari, Option ID :- 457,

. slower orbital velocity.

efieft srefia nifa1, Option ID :- 458,

. retrograde motion.

yfaareft 7ifer1 , Option ID :- 459,

. higher temperature.
J=I dgHT |, Option ID :- 460,
Answer Given:- proximity to the sun.

gd & RAereari , Option ID : -457

Question ID:- 112

[HCO37] and [CO327] of a seawater sample are 1.8 and 0.25 mM, respectively. What is the
carbonate alkalinity (roughly in eq kg™") of this sample?




YA ST & Yah A & [HCO37] 3R [CO32" shmar: 1.8 31k 0.25 famY &1 39 = & sprafae emdiaar
(e eq “ 1) R ?

Options:-

.0.45, Option ID :- 445,

. 2.05, Option ID :- 446,

. 2.3, Option ID :- 447,

. 2.55, Option ID :- 448,
Answer Given:- Not Attempted

Subject : 702_PARTC_CSIR_SEPT22_SET1_BIL

Question ID:- 158

The following diagram shows phase relations for the orthoclase
(KAISizOz)—albite  (NaAlSi:Os) system at constant pressure. If

‘S’ is the initial composition of magma, what is the
proportion (%) of perthite and antiperthite crystallized from this
magma at 550 °C?

g 3T &R T[E W AR (KAISi;Os)-Uedlse (NaAlSisOs)
WUTTel! & feTe wrar Seielf &1 &=1fdl g1 afc 's' 371 &1 URiS
GTTT 7, dl 550 °C TR 58 HHT 9 fehecdligpd quige ok tdiuyige
@1 U (%) F1 87

Liguid (L)

Temperature ("C)

0 20 100
Orihoclase Wit Albite

Options:-

.42% perthite; 58% antiperthite 42% uufse; 58% ¥&luufse , Option ID :- 629,
. 58% perthite; 42% antiperthite 58% uufse; 42% Wéaafse , Option ID :- 630,
. 70% perthite; 30% antiperthite 70% uufse; 30% Wéluufse , Option ID :- 631,

. 10% perthite; 90% antiperthite 10% gufse; 90% dégufse, Option ID :- 632,
Answer Given:- Not Attempted

Question ID:- 227

For a fixed number of electrodes in ERT survey, which electrode array gives the maximum depth
of investigation

$aé wderor & gdagis &Y ga AR G & g, #F a1 sadgis avoft sFaerr Y srfderas mevrs
g
Options:-

.Wenner array

a@+% Truft, Option ID :- 905,




. Schlumberger array

SR 9Ruft, Option ID :- 906,

. Dipole-Dipole array

fZya-fZs@ @roft | Option ID :- 907,

. Pole-Dipole array ya-f&sa @=oft, Option ID :- 908,
Answer Given:- Not Attempted

Question ID:- 255
For the prediction of which one of the following phenomenon a coupled ocean atmosphere model
is necessary?

Fafaf@a | @ fra i wiasgarft & fog v giaa AgarRa aamEaror atsa smaas 8?
Options:-

. Tropical Cyclone
Iwrehfesfia Tehard, Option ID :- 1017,

. Low-pressure System
¥ &41d WUTTel, Option ID :- 1018,

. Deep convection
Tg:T HagH, Option ID :- 1019,

. El Nino

311 f3At, Option ID :- 1020,
Answer Given:- El Nino
31t fA4t, Option ID : -1020

Question ID:- 167

Using the following garnet-melt trace element partition coefficients, the correct sequence of
trace elements accommodated in garnet mineral structure during its crystallization from a
basaltic magma is

frafafaa mHe-nfaa gew mfdes aw s 1ot &1 Suaht & gy, st A @ fresdteor
% SR THe @i~ @aT § garafSia gan Jife adl o1 98t A 8

Element Partition coefficient

Y — Yitrium 8.500

Sm — Samarium 0.870

Gd — Gadolinium 2.550

Lu — Lutetium 13.700
Options:-

.Sm - Gd - Y - Lu, Option ID :- 665,
«Lu Y - Gd - Sm, Option ID :- 666,
«Y - Sm - Gd - Lu, Option ID :- 667,

.Y - Lu - Gd - Sm, Option ID :- 668,
Answer Given:- Not Attempted

Question ID:- 170

Arrange the following events in the order of increasing age:
A. Younger Dryas

B. Meghalayan Stage

C. Last Glacial Maximum




D. H1 Heinrich event

Choose the correct option

frafafaa aematt i Tedt g8 omg & w0 J sgaf@q Hifs:
A. TR gTE3™

B. AuTeras Rt

C. e Tfdsre AfRew

D. H1 &R gde

wEl fehea

Options:-

.A, B, C, D, Option ID :- 677,
.B,C,D, A, Option ID :- 678,
. B, A, D, C, OptionID :- 679,

.B,D, A C, Option ID :- 680,
Answer Given:- B, A, D, C, Option ID : -679

Question ID:- 226

Which combination of electromagnetic methods measure Real and Imaginary components of
Secondary field?

frega gradhg fafQal o1 ol a1 dater fEdiae &9 & arafae sk sreufes geal & A 82

Options:-
.Compensator and TURAM methods
ufaeriRa 3fik TURAM a$idk , Option ID :- 901,

. Compensator and Sundberg methods

ufaerTiRa 3R aart @@, Option ID :- 902,
. Two-Frame and VLF methods

&}-thw 3fik VLF fafdai, Option ID :- 903,

. AFMAG and INPUT method
AFMAG 3R fRaer fafr, Option ID :- 904,
Answer Given:- Not Attempted

Question ID:- 253

Statement A: Thick clouds reflect more solar radiation than thin clouds.

Statement B: Absorption of solar radiation in extensive cloud systems is about 20%.
Choose the correct option.

THY A: I d1Ee faRe angel Y geran | sifdes iR RAfawor wrmafda #=a &

&Y B: AT 15 dF | HIR fAfRRor &1 sraenuor 1Rt 20% g1 |t fasea |

Options:-

.Statement A is true; Statement B is false
&Y A 94 g; &Y B 7Tid &, Option ID :- 1009,




. Statement A is false; Statement B is true
&Y= A 7Teid §; Y B 9 g, Option ID :- 1010,

. Both Statements A and B are false
&Y A 3R B g1 s/ & , Option ID :- 1011,

. Both Statements A and B are true
&Y A 3R B EHi 9 &, Option ID :- 1012,
Answer Given:- Not Attempted

Question ID:- 156

Choose the CORRECT option based on the following two statements (I) and (ll):

Statement I: Transient geotherms typically describe the temperature-depth relationship at a given
time for a specific geographic location.

Statement Il: Collision of lithospheric plates lead to crustal thickening and disturbs the pre-
tectonic steady- state geotherms.

Frafaf@a g sl (1) ok (1) & suR wR w9t faehea g4

&Y |: erfore sardia, ges fafe siriferes wu= & g g Ry g a9g § arawer-mgE & S @
UEY gufq i gl

YA |l RITHSAT el & Hug & hRUT Yuudl 7 gt SIredt & ok gd-faadfaes- @ g2m, yardiat
ol RefAa A g |

Options:-

.Both the statements are correct

g sy 9@l &, Option ID :- 621,

. Both the statements are incorrect

4l Sy T & , Option ID :- 622,

. Statement | is correct but Il is incorrect
&Y | gl g |fRa Il /e &, Option ID :- 623,

. Statement | is incorrect but Il is correct
&Y | T g dAfeh 1| It &, Option ID :- 624,
Answer Given:- Not Attempted

Question ID:- 243

Which one of the following is the correct sequence of Koppen's climate types according to their
positions on the globe starting from the equator?

YA T | [ g1 a1t Twild R 39! fRAfA & SIgar = & Toarg uahRl &1 9t svr efaf@a
AR AT E?

Options:-

.Af — BWh- BSh -Dfc - Dfd , Option ID :- 969,

. Af - BSh - BWh - Dfd - Dfc, Option ID :- 970,
. Af - BSh - BWh - Dfc — Dfd , Option ID :- 971,

. Dfc — Dfd— BSh - BWh—Af, Option ID :- 972,
Answer Given:- Not Attempted

Question ID:- 221

A sinusoidal wave x(t) = A, cos(100nt) is digitized at a sampling
frequency f;. However, the output signal obtained is y(t) =
B, cos(60mt). The sampling frequency f; (in Hz) is:




U WEGHSSA T x(t) = A4, cos(100nt) Th Hida AGRT £,
fdlgd DI Sl 8| g, Wﬁ?“mﬂﬂﬁ (3M3eYe f¥9a) y() =
B, cos(60nt) § | Uidexil gt f, (<o H) &

Options:-

.50, Option ID :- 881,
. 30, Option ID :- 882,
. 20, Option ID :- 883,

. 100, Option ID :- 884,
Answer Given:- Not Attempted

Question ID:- 234

The following diagram shows two offshore islands (IS). The zone of
diffraction will be approximately located at

FAfad @ & 2udaciy gl (1S) ®i axiid g | [dad &1 &=
TRAT R RyA e

LAND LAND

Hid30 WALWM

WATER DEPTH in
(T

\_ _ﬂ_,.—*'/ I8 = island

Options:-

.A, Option ID :- 933,
. B, Option ID :- 934,
. C, Option ID :- 935,

. D, Option ID :- 936,
Answer Given:- A, Option ID : -933

Question ID:- 258
If isobaric surfaces are also the surfaces of constant density, then atmosphere is

ofe g T ys fRR aT@ at g fi §, At argrze____ @
Options:-

.Conditional unstable

uTRfRAfae 31fA, Option ID :- 1029,

. Baroclinic

ravafores (QRifa1AeR), Option ID :- 1030,

. Barotropic

ST (SRigifdes), Option ID :- 1031,

. Unstable




3fRAR, Option ID :- 1032,
Answer Given:- Not Attempted

Question ID:- 230
Assertion (A): In the great majority of river systems discharge increases downstream.
Reason (R): The tributaries progressively add more runoff to the trunk stream.

Choose the correct option

StfReru= (A): sifdemiar 7t vonferat & faast srquarg 6t ok agar 81
&R (R) : HgTIeh ARAT J&d URT # IR 1Y sruarg siiedt &1
gl e g

Options:-

.A is correct but R is incorrect
A 9! g @ifeh R 17 &, Option ID :- 917,

. Ais incorrect but R is correct
A e @ «ifhT R 9@t &, Option ID :- 918,

. Both A and R are correct and R is the correct explanation of A

A 3R R g1 6l € 3R R, A i 6 aurear shzd1 @, Option ID :- 919,

. Both A and R are correct but R is not the correct explanation of A
A 3R R a1 @t € AfFT R, A hr G =z 7 &=ar &, Option ID :- 920,
Answer Given:- Both A and R are correct and R is the correct explanation of A

A 3R R &1 6l & 3R R, A il T =arear ar &, Option ID : -919

Question ID:- 250
The given figure shows a vertical cross-section of an Occluded Front. Which of the following is

true about the temperatures of the 3 air masses A, B, C associated with the front?

& 7é srrpfar Uk SifAenRe (Sifehreg2s) SrmT & Uk Seafer iguey wre &t g2fdt @ | Fafaf@a g @
I 1 3T | 52, 3 a1 &89 A, B, C & a9 & aR # gt 87

Occluded Front

e

Options:-
eTao<Ty<T1,,OptionID :- 997,

« Tpo>Tg < 1., Option ID :- 998,
« Tpo>Tg>Tc, Option ID :- 999,

« Tpo =Tg =T, Option ID :- 1000,
Answer Given:- Not Attempted




Question ID:- 286
Ongoing climate change would likely result in
STearg ® 9 g aRad o1 giRoms dya«ar ghm

Options:-
.frequent hypoxia in coastal waters.

TET STt # AR Srasiterdiaar (grgulfeRman) |, Option ID :- 1141,

. decrease in nutrient loading in coastal waters.

aéT ST | UtWeh del b MR | &hHT1, Option ID :- 1142,

. inhibition of stratification in coastal waters.

adg ST | TadRRuT &1 A1, Option ID :- 1143,

. increase in ocean pH.

TR diga | gfg1, Option ID :- 1144,

Answer Given:- Not Attempted

Question ID:- 239

Match the Earth scientists with the hypotheses on pediment formation
proposed by them:
Ex

Proponent Principal cause of pediment formation
A |A.C. Lawson L | Erosion by sheetflood and rillwash
B |W.M. Davis M | Lateral planation by streams
C |G.K. Gilbert N | Structurally controlled irregular

landscape lowering
D [C.R. Twidale QO | Deep weathering and stripping
P | Parallel retreat of hill front

Choose the correct option

-Gl @l 36 GRI URalfad ufeHe fAaio & aReegmmei 4

TRAA$ UTSH= A0 &1 T8 SR

T, L | 91¢ 9reR 9iR &fs Gl gRT 3URGA

S ey | M| yrusi grR1 e gadaeieR

O o >

oM. . filesc N | TR +0 1 Ffa oo uemg
DI HH BT

D[diem fgsa | O] MR 3mRed 3R 3udsd

P | ugrsl 2@ &1 UaH-R Fdadd

el fadbey g+

Options:-

.A-0,B-N,C-L,D-P, OptionID :- 953,
.A-PB-L C-M,D-N,OptionID :- 954,
.A-0,B-M,C-L,D~-N,Option ID :- 955,

.A-0,B-PC-N,D-L, Option ID :- 956,
Answer Given:- Not Attempted

Question ID:- 175




Match the logging tools in column | with their corresponding
characteristics in column I

Column | Column Il
P Lateral Log A | Depth of investigation is twice
spacing
Measures resistivity of flushed zone
Asymmetrical response
Power is held constant

Q | Deep Laterolog
R Long Normal leg
S Proximity log

o0 m

Choose the correct option

Dl | H G ¢ ol e Hiad | T 3] Yafdd favarsit

& T B
SHiad | Piad Il
P | url e A | 3aU Bl TR gl bl al T @
Q | Sig dezan B | wenfaq &=t &t ufcRieasdT &f AU g
R | ggdyMgderd | C | 2rHH Hfdfshan
S | FMoed dug D | giaR ol ¥R W1 oiidl &
et fadhed g
Options:-

.P-A, Q-B, R-C, S-D, Option ID :- 697,
. P-B, Q-D, R-C, S-A, Option ID :- 698,
. P-C, Q-D, R-A, S-B, Option ID :- 699,

. P-C, Q-D, R-B, S-A, Option ID :- 700,
Answer Given:- Not Attempted

Question ID:- 172

Calculate the ratio of the transverse strain to longitudinal strain in a granite sample which has a P
wave velocity of 6 km/s and the value of the Lamé parameter A is twice that of the shear modulus
of the rock sample.

ek U-ITge T | gy fagpfar ok sigded fagpfar & srgurer & o &3 s P &% ot a6 e/
s g R @ (Lamé) e A o1 A= At ufagef & srasuor Aisyes @ S 21

Options:-

.0.23, Option ID :- 685,
. 0.25, Option ID :- 686,
. 0.33, Option ID :- 687,

. 0.38, Option ID :- 688,
Answer Given:- Not Attempted

Question ID:- 285

What is the preferred sequence of oxidants utilized by bacteria during the decomposition of
organic matter?




Options:-

.07 > no, > S042°> CO3™, Option ID :- 1137,

. 02> NO3 > CO32" > S042", Option ID :- 1138,
. 05 >S042> CO3~ > NO,", Option ID :- 1139,

. NO3™> S042°>C032" > 0, , Option ID :- 1140,
Answer Given:- Not Attempted

Question ID:- 224

An oceanic lithosphere, being created at a mid-oceanic ridge (MOR), is moving away from the
MOR at a speed of 5 cm/yr. The spreading rate was double the present rate during the Cretaceous
period (145.5 Ma to 65.5 Ma). Assuming the Cartesian geometry for the plate motion, the
Cretaceous Superchron (121 Ma to 83 Ma) should be located between from the MOR.

Ueh A HETENRIA shedh (MOR) WR a1 8T Uah AR ®@#sd, MOR & 5 @fl/ad &t nifa & gz =
T 81 thefATH &1t (145.5 Ma & 65.5 Ma) & SR UER & adHM & & S ot e nfa & forg
FrefAa safafa @t A gy, Shefaw gushia (121 Ma & 83 Ma) MOR & & = fRa g

arfgql

Options:-

.5025 km and 8825 km
5025 fhet 3k 8825 faksdt, Option ID :- 893,

. 4150 km and 6050 km
4150 et 3t 6050 fReft, Option ID :- 894,

« 3275 km and 5025 km
3275 foreft 3k 5025 famst , Option ID :- 895,

« 3275 km and 6050 km

3275 foreft 31k 6050 fart , Option ID :- 896,
Answer Given:- 5025 km and 8825 km
5025 fereft 31k 8825 femsdt, Option ID : -893

Question ID:- 283

The flux of N2O out of the ocean is mostly concentrated in the upwelling areas and high latitudes
because

AR ¥ 18 N9 O &1 UaTg SfQehar IETg! =i 3k 3= sretian & hfgd g wriifh

Options:-

.there is more N5 available in these regions.

g &= 7 31fdeR N, Iueteds 1, Option ID :- 1129,

. the solubility of N,O is less in these regions so it escapes to the atmosphere.

g &1 d N0 &Y fadtaar &+ gidt & sufeg ag argese d usra= &= st 81, Option ID :- 1130,

. the processes that produce N2O are inhibited by light.
N,0 I &3 areft ufehard uerter ZRT arfdq gt &1, Option ID :- 1131,

. the winds are stronger in these regions and help the gas to go out.
3 &5l A gard a1 gi<ht & ok St A9 <kl argr Aehe & ggraar &t &1, Option ID :- 1132,

Answer Given:- Not Attempted




Question ID:- 252

If an initially motionless airmass centered over the equator is moved adiabatically to the north
pole, then it will

i sy Yar iR Hfgd g mRfNes fad|, arg seow= &l FEieT © & I gy W= & ST S 8,
dt arg g

Options:-

.attain a cyclonic relative vorticity.

! Ueh TshdTd! GTdeT WiAdr ure ghfti, Option ID :- 1005,

. attain an anticyclonic relative vorticity.

@l Ueh ufarshara 9rdet ufaear ure gifti, Option ID :- 1006,

. disintegrate.

@faa g, Option ID :- 1007,

. remain motionless.

Tfagl 9= |9 1, Option ID :- 1008,

Answer Given:- Not Attempted

Question ID:- 287

Secondary production in ocean typically refers to

HETR # fEdae Iames sk R defifa AT @

Options:-
.growth of microalgae

g&Hq-Aaret & gfeg , Option ID :- 1145,

. growth of heterotrophic biomass

Ayt sfiawr (arai=m) 6 gig, Option ID :- 1146,

. overall biomass
Yy SfigurR , Option ID :- 1147,

. growth of haptophytes
gwiwhrged & gig , Option ID :- 1148,

Answer Given:- growth of heterotrophic biomass

Ryt slawr (sratare) 6 gfg, Option ID @ -1146

Question ID:- 223

A discrete signal x(n)=1{2,1,0,—1,1} passes through a linear
system, shown inthe  figure below. The energy of the output signal
y(n) will be approximately times the energy of the input
signal.

T 3HAd 9bd x(n) = {2,1,0,—1,1} Th G HUME & A1AH 9
Yaid fdoar Sirdn g, il A feu 7w o o féamr man g | Hrid Uabd y(n)
B Sl (A= Tbhd DI Sl BT TTHT T g




{2J' '1- 1}

— @
Eie e
DLl 1,2, -1 i_l

Options:-

.2.285, Option ID :- 889,
. 4.571, Option ID :- 890,
. 1.0, Option ID :- 891,

. 3.478 , Option ID :- 892,
Answer Given:- Not Attempted

Question ID:- 220

An ore body that can be equated to a single pole occurs at a place
where the vertical (V) and horizontal (H) components of the Earth's
magnetic field are in the ratio 1: 3. The positions of the maximum and
minimum anomaly values along a NS profile across this model are
separated by a distance of 150m. What would be the distance
between this point pair, if the body were located at a place where V:
H=2y2:3?

U 3% [0S 6 Ul Yd & GHGE 39 ®IM W fhal o Tl 8
Slel gl & da@id &7 & SR (V)3IR &fdel (H) 9@ 1: 3 $ a1
T g g1 39 Aisa #, sif¥man SR grau [aunia aml 31 [ufd oo
ITR-I&0T Uiwbrgd 1,150 Hiex 3l g gRI 21er 64 oid § 1 59 fiig
y;ﬁsaﬂ;aﬁgﬁw@ﬂ.ﬁfﬁswww@mémaﬁvw:
2V2:381 ?

Options:-
150 m, same as that where V. H=1:3

150 Hiex, 34! gt o, gt V- H=1:3
Option ID :- 877,
. 200m

200 H.

Option ID :- 878,
. 200v2 m
200v2 1.
Option ID :- 879,
. 200v/3 m

200+/3 HI. ,

Option ID :- 880,
Answer Given:- Not Attempted

Question ID:- 248

The stationary Rossby waves from the mid-latitudes often decay in the tropics because




Heg g J FRR Awht a9 srovR It wiedy # ey gidt & aifeh
Options:-

.the waves have travelled a long distance and lost energy.

g A oeft & g fi & ok St @t € @1, Option ID :- 989,

. frequent convection and the diabatic heating in the tropics.
I hfedy H IR-IR Hag R ufasGs a1, Option ID :- 990,

. mean zonal winds are easterly.

weg ety gard gd & sk &1, Option ID :- 991,

. Hadley Cell subsidence acts as a barrier between subtropics and tropics

&Sl 9 7T, Sutwrehfedtiiy ik Iwrenfesfta & fiw g arar & = A & @zar 1, Option ID :-
992,

Answer Given:- Not Attempted

Question ID:- 228

The number of maximum possible 6-layer Schlumberger sounding curves will be

6-URd STHESR JISFST ash hY sifderay g dwear gift
Options:-

.16, Option ID :- 909,

. 24, Option ID :- 910,

. 32, Option ID :- 911,

. 40, Option ID :- 912,
Answer Given:- Not Attempted

Question ID:- 218

An anomalous body, in the form of a horizontal circular disc at a depth of 173 m, produces a
maximum gravity anomaly, which is half that of a Bouguer slab of same thickness and density
contrast. The radius (in m) of the disc is

173 ez fi 1€ R vek Afast MerepR f2wr & wu & g fAww fi's, sifQeraw 1oa e der
T g, STt 91 Hierd ok uqw fAuala (cdhere) aret aeTR W &1 sun g1 f3wes ft s (m ) &
Options:-

.192, Option ID :- 869,

. 260, Option ID :- 870,

. 300, Option ID :- 871,

. 346 , Option ID :- 872,
Answer Given:- Not Attempted

Question ID:- 278
Which one of the following shows a CORRECT relationship of Tide generating force (F) on the

Earth’s surface due to the Moon? (R: The Earth’s radius, D: Earth to Moon distance, M: mass of
Moon)

fArafaf@a § @ S g & FRT gt Y Tag W SaR Ge1 F- are a9 (F) 1 9@t Seie grfar g2
(R: geaft &t Frsam, D: geeft @ dgar i g&f, M: dzaT &1 gewr)

Options:-




. Fx«MRD? ,
Option ID :- 1109,
. F=<MR2D? ,
Option ID :- 1110,
., Fc<MR2D3
Option ID :- 1111,
. F=MRD? ,

Option ID :- 1112,
Answer Given:- Not Attempted

Question ID:- 244

Match the ecological adaptive strategies with the plant types

Plant Type Adaptive strategies

A. | Hydrophytes | E. | germination of seeds hefore they shed:
adventitious roots that develop from the base of
the stem; negatively geotropic roots for supply of
oxygen

B. | Mesophytes | F. | root systems are very deep; stems are dwarf and
branched; stomata are less in number and
generally confined to the lower surface of leaves

C. | Xerophytes | G. | leaves are thin, narrow, and linear; extensive
aerenchyma in all organs; stomata are generally
absent

D. | Halophytes |H. | leaves are large; stem is rigid and stout; normal
physiological processes

Choose the correct option

qrefl & BRI & Ty UIRRUAS sFbas gfaaal o e &

ulY &1 UbR had gl
A | waifge |E |46l & TR Y Ugd 391 3G, RS
oS S o b MR I fy i gt 7
SadioH DI 3Mgfd & e AdRIAS

TR 99
B.| WHifgg |F |ofsddagd Tee g ; a- s 3R 2MAd 8id @,
3¢ T3 H HH Bl & 3R MR IR gRdl &l
el Uag ad o Wi gid &
C.| wofge G. | uftrar uden, Geasl IR @ gidl & GH 3AT
goumch QBT HT; I8 WHIG: SFURYd gid

D.| waumaifge | H. | gitr™i 931 8idl o; a1 PR 3R Hiel gidl ¢
R Hifded uidhan

et fadeg I

Options:-

.A-G;B-H;C-E;D-F,OptionID :- 973,
.A-G;B-H;C-F;D-E, Option ID :- 974,
.A-H;B-G;C-E;D-F, Option ID :- 975,
.A-G;B—-E;C—H;D-F, Option ID :- 976,




Answer Given:- Not Attempted

Question ID:- 240

Velocity of water flowing over sands is higher than the speed of waves propagated in the flow.
The following type of bedforms are likely to form:

e & HUR T aret gr=it 1 A1, Targ # vETRd wg]d Y afa @ sifdew ghar 81 A=faf@a var &
&R AT 991 hY G918

Options:-

.Antidunes

U&tsg, Option ID :- 957,

. Dunes or megaripples

f=a ar gga &ffent, Option ID :- 958,
. Ripples
&ffaT, Option ID :- 959,

. Lower plane beds
A1 99a«e @&, Option ID :- 960,
Answer Given:- Not Attempted

Question ID:- 160

In the Himalaya, which one of the following is the correct sequence of in-sequence thrusts from
north to south? (STD - South Tibetan Detachment; MBT - Main Boundary Thrust; MCT - Main
Central Thrust; MFT - Main Frontal Thrust; ITSZ - Indus-Tsangpo Suture Zone)

fearera &, Prafaf@a d @ @l a1 s @ faror fY iR g ue &1 a8 9 2? (T - a=y
et fadadle; uadidl - A a5t uve; guidl - A9 det ave; THUGRE - A9 thed URE; TEdigasts -
Riy-simat 3= =)

Options:-

.ITSZ, STD, MCT, MBT, MFT
IrEATTes, TudE, taelid), oaetd), THew& , Option ID :- 637,

. MFT, MBT, MCT, STD, ITSZ
UGS, TR, Tafidl, gudldl, smsdluasis, Option ID :- 638,

. ITSZ, MCT, MBT, STD, MFT
mEdivaats, TaHidl, T, gadldt, Tauwél, Option ID :- 639,

. MBT, MFT, STD, ITSZ, MCT

T, TR, TadEl, ergdivasis, waiél, Option ID :- 640,

Answer Given:- ITSZ, STD, MCT, MBT, MFT

ImEdivTats, Tads, vafidl, oafidl, Tauwél, Option ID : -637

Question ID:- 232

Statement A. The Manning roughness coefficient increases as flow depth increases up to
bankfull discharge.

Statement B. Once the channel capacity is exceeded the flow spreads over a much larger area
and the Manning roughness coefficient decreases.

Choose the correct option

&Y A - TaTg Y TS, dereArdt fasst= deh de uR, AT IRAY ot d@dr g1




FYT B - Tah IR URT Y &1HAT UR gl ST R WelTg agd a3 &5 # et a1 g 3R A 79 qorias
FH gl STt 8l

@ frerea o

Options:-

.Both statements are incorrect.

41 YA TeId @1, Option ID :- 925,

. Statement A is incorrect but statement B is correct.
&Y A T g wfh Sy= B 9@l @1, Option ID :- 926,

. Statement A is correct but statement B is incorrect.
&Y= A 98l @ Afeh &y B 711 1, Option ID :- 927,

. Both statements are correct.
)1 sy 9@l &1, Option ID :- 928,
Answer Given:- Not Attempted

Question ID:- 256

cht

Ax

< 1, TR ST Te1T T offell ©

Courant-Friedrich-Levy (CFL)
HR-C-Iheag-adl (CFL)

= 1, condition is known for

cAt
Ax

Options:-

.Unstability 31f®=ar, Option ID :- 1021,

. Conditional instability ufa=ifae e1fe¥=ar, Option ID :- 1022,

. Computational stability Tror-Tedes 31f€=ar, Option ID :- 1023,

. Inconsistency 3TE et , Option ID :- 1024,
Answer Given:- Not Attempted

Question ID:- 233
Read the following statements that are used to describe Till.
A. These are unconsolidated sediments deposited by glacier ice.

B. These are consolidated sediments deposited only by glacial meltwater and exhibit
stratification.

C. These are typically unsorted and non-stratified.
D. These are typically well-sorted and are dominated by well-rounded clasts.

Choose the CORRECT option:

fafafaa syl @ ufeg e suaht ‘e &1 avfq o & g Rrarmar @ 1

A. 3 AR ft Ttk gRT =T R T erEnfya aeee g1

B. & hae fgu=1el & fauet urft grR1 s fahw 71¢ gifera deoe @ ok wdierur wefafa &=d &1
C. & 3 dR R g R R-wdiga ga &1

D. & 31T/ @R UR 3<S! g A shHdg gld & SR FH I1<SI g @ M Wil bl U gt 8l
wet feepea




Options:-

.Only A and C are True
thaeT A 3R C 9 &, Option ID :- 929,

. Only B and D are True
thasT B 3R D 9 & , Option ID :- 930,

. Only D is True
a1 D g &, Option ID :- 931,

. Only C is False

hae C 319« &, Option ID :- 932,
Answer Given:- Only A and C are True
had A 3R C 9 & , Option ID : -929

Question ID:- 217

The rate of increase of the Earth's gravity field at latitudes 30° and 60° are in the ratio
300 3z 600 aretizi R gt & o AT R gfg a=__srqua A &

Options:-

.1:1, Option ID :- 865,

. 1:¥2, Option ID :- 866,

. v2:¥3, Option ID :- 867,

. v3:2, Option ID :- 868,
Answer Given:- Not Attempted

Question ID:- 263

Consider the following statements

Statement A: Diffusional mixing rate of salinity is higher than that of temperature in ocean.
Statement B: Larger density gradient in the vertical leads to shorter wavelength waves.

Choose the correct option

fFrafafae sy w® R &

YA A: Fgordr & faarofig fAsor R AgR & araa= 6 gean 7 sifdew 81
&Y B: Seafer & ggr u-iea uaurar Si& a3 e areft a i ofk & St @1
wEl farehea o

Options:-
.Statement A and B are True.
&Y A 3R B 9 &1, Option ID :- 1049,

. Statement A is False, Statement B is True.
&Y A Tl g, Y9 B 9 g1, Option ID :- 1050,

. Statement A is True, Statement B is False.
&Y A 94 g, &Y B 71 &1, Option ID :- 1051,

. Statement A and B are False.
&Y A 3R B 7T &1, Option ID :- 1052,
Answer Given:- Not Attempted




Question ID:- 237

Identify the correct set of karst features or landforms

HIE hi fAward ar - smepfadt & T8t @ig 6 ugaH &
Options:-

.Poljes, Tors, Cockpit, Doline

uierst, €, shiapfue, sfers=, Option ID :- 945,

. Uvalas, Karren, Ponor, Poljes

4T, e, FluehrITd, gierst, Option ID :- 946,

. Karren, Bajada, Poljes, Sinkholes

hed, d1gTeT, Uierst, faera= s, Option ID :- 947,

. Uvalas, Ponor, Tarn, Cockpit
a1, huerRTd, @, shiepfie , Option ID :- 948,
Answer Given:- Poljes, Tors, Cockpit, Doline

gierst, €, @ifde, SfeTs, Option ID : -945

Question ID:- 242

Which one among the following is most ideal site for achieving steady state in an open system?

T+h HoTTelt # fRR sawt ured oea & forg Rafaf@d & @ w9 a1 aaa smesf @m= 82

Options:-
.Leeward slope of a frontal dune Qe 3rroft fe=at a1 wfeaa= ==, Option ID :- 965,

. A glacier at the upper limit of ablation zone 3rq@fifa &= &t Fud d=T WR vas faw=ig, Option ID
:- 966,

. A beach characterised by rhythmic topography (cusps and horns) ag IR (T HR
gi+) h farstwar arerm 93z a<, Option ID :- 967,

. A stretch of a river between two bridges & geii & sfa <} @1 gk @@=, Option ID :- 968,
Answer Given:- Not Attempted

Question ID:- 166

Critical entrainment velocity for grains

A. larger than 0.5 mm increases gradually with increasing mean grain size
B. smaller than 0.5 mm increases gradually with decreasing mean grain size
C. larger than 0.5 mm decreases gradually with increasing mean grain size
D. smaller than 0.5 mm decreases gradually with decreasing mean grain size
Based on the above statements, which one of the following options is TRUE?
hiferer SRigor AT

A. 0.5 faft @ 92 wont & ford, sfta ot & SR A gfg & Ty fR-dfR aTeaT 8
B. 0.5 At & 812 avif & o, ST i & ITPR F et & A1y fR-fR T@ar g

C. 0.5 et | 2 vt & fora, A vt &h STRR A gig & Y fR-fR gear g

D. 0.5 faft & BIe avii & fra, T it S HTRR | FHt & AT fR-fR gear g




IR FYAT & MTUR R, A=faf@a A @ o9 91 fawmeu g 82

Options:-
.Aand B
A 3R B, Option ID :- 661,

.CandD
C 3R D, Option ID :- 662,

.BandC
B 3fR C, Option ID :- 663,

.AandC
4. A 3R C, Option ID :- 664,
Answer Given:- Not Attempted

Question ID:- 279

A wave having a wavelength 624 m, frequency 0.05 s™1 is propagating in deep water. The wave
passes a fixed point P, 30 seconds after crossing a crest. If the amplitude of the wave is a then,
what is displacement at point P?

Qe a9 fAadh avreedf 624 m, gt 0.05 s71 &, g o A TulRa gt 3@ &1 a3 ueh ofidf ht uR e
% 30 §hs a1E Yo e foig P @ [ordt 81 af &1 &1 smam o 8, &t foig P or faeumu= @ 82

Options:-

.a, Option ID :- 1113,
. 0, Option ID :- 1114,
« -a, Option ID :- 1115,

. a/2, Option ID :- 1116,
Answer Given:- Not Attempted

Question ID:- 159

The pitch of a slickenline on a fault slickenside (230°, 48° SW) is measured to be 90°. Which one
of the following is the correct plunge amount of the slickenline?

Qoh U2 Tiih-1418s (230°, 48° SW) TR Tllchetra+ &hi sigrfa 90° ardt siret 81 A=feif@a d @ &=
Tih-eTsA T Tgl Sra=H+ uikHToT 82

Options:-

.90°, Option ID :- 633,
. 81°, Option ID :- 634,
. 48°, Option ID :- 635,

. 42° , Option ID :- 636,
Answer Given:- 48°, Option ID : -635

Question ID:- 157

Choose the correct sequence of porphyroblast growth (from the oldest to the youngest) based on
the figure showing relationships between porphyroblast growth and matrix foliations.

URGTSIeARE gfeg iR 3Ty Aeeh o T Gyl ot g2 a1 Sfichel & YR IR URGISIRE g
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Options:-

X Y - Z,Option ID :- 625,
.Y - Z . X, Option ID :- 626,
.Y - X - Z,OptionID :- 627,

« X - Z - Y,Option ID :- 628,
Answer Given:- Not Attempted

Question ID:- 229

Statement A. The equilibrium solubility of a mineral represents the extent to which it will dissolve
in water.

Statement B. Equilibrium solubility is unaffected by the temperature and pH of the environment.

Choose the correct option

&Y A - T @t Y Sge gerfiear arit § gea & Hiar ot g2afdt @
&Y B - Hge gefterar uafaror & argae ik diga @ smwifaa 81
gl fasea g4

Options:-

.Both statements are incorrect.
&)1 &Y= e d &1, Option ID :- 913,

. Statement A is incorrect but statement B is correct
&Y A TTeid g wifeh &y= B 6@t &, Option ID :- 914,

. Statement A is correct but statement B is incorrect
&Y= A Gl @ dfeh &Y= B 71e1a &, Option ID :- 915,

. Both statements are correct

41 YT 9@ &, Option ID :- 916,

Answer Given:- Statement A is correct but statement B is incorrect
&Y= A Gl & Afh sy= B Tea &, Option ID : -915

Question ID:- 231




Match the following columns

Column | Column Il
A | Changes in discharge through time | E Ephemeral streams
B | Elevation of the water surface ina |F |Bankfull discharge
river channel
C | Channels carry only occasional G |Overbank flow
flow after storms
D | Discharge at which the channelis |H |Hydrograph
filled to capacity
| | Stage
Choose the correct option
frafeiRad SicHr S gAfed Hifog
DI | EANGET
A | 7 & g1y fagel d aRad- E | ofcddbiicid IRAVYRI
B | 1] &1 YRT H Ul &I Hfg Dl Bl | F | derandl fawoi
C | isn & aIa YRS H dad URiMe | G| 3fidde vaig /3R el
yars gl fawd g
D | 1519 &rf UR ¢R1 uRgul g4l H| siarRd
R fageit
|| =R
et fadey I
Options:-

.A-H, B-l, C-E, D-F, Option ID :- 921,
. A—H, B-F, C-E, D-I, Option ID :- 922,
. A-E, B-1, C-G, D-F, Option ID :- 923,

. A—=G, B-Il, C-H, D-E, Option ID :- 924,
Answer Given:- A-H, B-I, C-E, D-F, Option ID : -921

Question ID:- 225

The Primary magnetic field (Hp) varies inversely proportional to cube
of the distance (r) between transmitter and observation point

(Hp o ris) due to which type of transmitter?

foh UHR & giaeiex & SRS ga319 & (Hp), TRHeR 3R
3faciich 184G (Hp oc ) & §19 B g8 (r) & B P GhHIFURN Il
7

Options:-

.a long horizontal grounded wire (Two Frame method)

S| & i ues e éfast ar (gt tha fafdy) |, Option ID :- 897,

. a large horizontal rectangular loop (Bieler-Watson Method)
Teh 93T &fast sradarer uien (Sfier-areq= fafd) , Option ID :- 898,

. a small circular loop (Slingram method)




Teh Ster Merehr u1en (feiws fafe) |, Option ID :- 899,

. a long vertical wire (VLF method)
Teh ol Seafer ar (fleegw fafed) |, Option ID :- 900,
Answer Given:- Not Attempted

Question ID:- 161

Three fossils (Ec, Mc and Vt) are present in two continents and the following are true: a. Ec, Mc
and Vt have

a short temporal range.

b. Vt and Mc have hard skeleton.

c. Ec, Mc and Vt live in lakes, grassland, and in shallow marine environments, respectively.
d. Ec is a microfossil; Mc and Vt are megascopic fossils.

Which fossil would you choose for correlation?

= Sfiares (Ec, Mc 3iik Vt) &t Aerdiul & wigig & ok ffafea a= &

a. Ec, Mc 3R Vt &t srifares srafa siét gt 21

b. Vt 3R Mc & R dhepret &l

c. Ec, Mc iR Vt shear: i, a9 & Agri ik Iy T aramaror | B 1
d. Ec Teh g&H Sfiared §; Mc iR Vt RIATahR Sfiared €1

Heday & forg ey fore Sfiares &t g2

Options:-

.Ec, Option ID :- 641,

. Mc, Option ID :- 642,

. Vt, Option ID :- 643,

. Ec and Mc are equally good
Ec 3R Mc 9919 ¥4 ¥ 313 & , Option ID :- 644,
Answer Given:- Not Attempted

Question ID:- 165

The following shear zones occur in the Southern Granulite Terrain
SASZ - Salem-Attur shear zone

AKSZ - Achankovil shear zone

PCSZ - Palghat-Cauvery shear zone;

KKPT - Karur-Kambam-Palnavu-Trichur shear zone

The correct sequence of shear zones along a south to north traverse is
gfaroft dgerge sy A FeafafEa srosuor &= g

SASZ - TIH-3R[X 3= &1,

AKSZ - sra-Tehifae STu=yur &

PCSZ - UTeTHTE-hIas) 319=YuT &3;




KKPT - ehesx-chad-uei-Tg- AR Siae=yur &

Zfaror @ IR &Y 3R SruReqUT & T TE
Options:-

«AKSZ — KKPT — PCSZ - SASZ, Option ID :- 657,
. AKSZ - SASZ - PCSZ - KKPT, Option ID :- 658,
« KKPT — PCSZ — AKSZ — SASZ , Option ID :- 659,

. SASZ - PCSZ - KKPT — AKSZ , Option ID :- 660,
Answer Given:- Not Attempted

Question ID:- 277

Identify the CORRECT combinations of ocean circulation theories in
Column-I with their mechanism in Column-Il.

Column-| Column-II

P | Sverdrup theory | T | Friction between the currents and the side

walls added to the potential vorticity
conservation.

Q | Stommel theory | U | Ocean interior meridional flow directions

described through a potential vorticity
argument

R | Munk’s theory V | Inclusion of dissipation of potential vorticity
to explain westward intensification of
western boundary currents

Select the CORRECT option

HiaH-1 H ASNR IR figidl &, Siad-Il H§ 37! Huel & 1y
el TaIoH &l UgdH e |

P HIad-I|
P | Tovgu fraia [T RT3 3R [HAR Bt SART & o
U7 YU UitTerar TRev ¥ oS
oIl B
Q| wihd fga |V TERITR & 3{dR® Jraiiig Ualg
femmef & T gvifad yffean
JUUfT (SIRTGHT) & Ared g aftld
fPar g
R Hah Pl v gigdl | YrIe & uig| Bl 3R
i g1 Bt RS B g HHIdd
Yl & Uy &l YHIEY
el fadbey g
Options:-

.P-U, Q-T, R-V, Option ID :- 1105,
. P-V, Q-T, R-U, Option ID :- 1106,
. P-U, Q-V, R-T, Option ID :- 1107,

. P-V, Q-U, R-T, Option ID :- 1108,
Answer Given:- Not Attempted

Question ID:- 162




Absence of which one of the following played a role in preserving soft-bodied organisms of
Ediacaran fauna?

Frafaf@a § @ frad srgufeRfa 3 =9 3RR T efearsre sfiat @ Sxféa &= & sffer Fad?

Options:-

.oxygen in the atmosphere

ardaTaRur 7 3ifedisT , Option ID :- 645,
. stromatolites

¥Helemse , Option ID :- 646,

. acidifying conditions

3refiepvor uRfRAfaat , Option ID :- 647,

. mobile/bioturbating organism
IATAHT/aratexafen sfia , Option ID :- 648,
Answer Given:- Not Attempted

Question ID:- 168

Where would you expect the highest CaCO_3 production within an ocean basin?
31U Ueh AR givft (af8+) & offar 3=aaw CaCO.; Iaure &hi srdei &gl heil?

Options:-
.Continental shelves

wgrdidia 2w |, Option ID :- 669,

. Continental slopes
"gTZIdia ueur, Option ID :- 670,

. Pelagic Ocean

denfSieh HEATR , Option ID :- 671,

. Oceanic rift valley

TerErg RRue a1él |, Option ID :- 672,

Answer Given:- Continental shelves

wgTZidia ek , Option ID : -669

Question ID:- 249
The anticyclones do not intensify as cyclones because

Options:-
.of the absence of latent heating in anticyclones

ufdasharal # @ SeAT Fi SrgufRAfA & FRoT, Option ID :- 993,

. of the radius of anticyclones is large

ufarererara &Y Boar 9t gidt 8, Option ID :- 994,

. they form over colder waters

a 32 urHt & HuR 994 &, Option ID :- 995,

. the relative vorticity and planetary vorticity have opposite signs
graféres ufaear ok udta ufAerar & fAudia daha gia &, Option ID :- 996,

Answer Given:- Not Attempted

Question ID:- 259
Larger values of Rossby number are likely to be seen

At = & 92 919 3@ oA fY S9EET 8
Options:-

.when the horizontal length scale is large.




Sta &fast T &1 9T 927 gl @1, Option ID :- 1033,

. when the vertical extent of the system is large.

Sig yoteft hY SHeafer diwr ot gidt @1, Option ID :- 1034,

. closer to the equator.

YA @M & &A1, Option ID :- 1035,

. closer to the poles.
gfat & a1, Option ID :- 1036,

Answer Given:- Not Attempted

Question ID:- 254
Which part of a thunderstorm cloud dissipates first?

afed Sz Tl &1 R T UNT G9@ uget &1 giar &2
Options:-

.Top
SR, Option ID :- 1013,

. Bottom
==, option ID :- 1014,

. Sides
geil, Option ID :- 1015,

. All parts dissipate together
gt ¥TT Tk 1Y &1 g S &, Option ID :- 1016,
Answer Given:- Not Attempted

Question ID:- 264

The given figure shows the continents (shaded) surrounded by ocean (unshaded) and vectors
represent surface wind directions. Identify the processes in the coastal regions marked with A, B,
C, and D.

& 7 snpfa AgTidl (Smifre) @ wgs @ foR (e smifea) gl & ok afky/dk, aad ua=
framait &t g21fad &1 A,B,C 3iik D & a1y Rfga adla =t 7 uftharsit Y ugar= &

20°N

10°N \f /

00
/iy
10°5

2095

Latitude

Longitude

Options:-

.Upwelling at B and D, Downwelling at A and C
B 31l D UR I3ETEl , A 3R C = 3fefivargt, Option ID :- 1053,

. Upwelling at A and D, Downwelling at B and C
A 3iR D U= I31aTgl, B 3R C R 3refivargd!, Option ID :- 1054,

. Upwelling at A and C, Downwelling at B and D
A 3R C R I37ETgl, B 34k D UR 3itfiwargt , Option ID :- 1055,

. Upwelling at A and B, Downwelling at C and D




A 3R B W= I31aTdl, C 3R D R 3refivarg!, Option ID :- 1056,
Answer Given:- Upwelling at A and B, Downwelling at C and D

A 3i* B U= I31aTat, C 3R D U= 3fefvargt, Option ID : -1056

Question ID:- 257

Thermal wind is the change of_______invertical troposphere
SufeR eivrisa A Sufiguaa______ wruRada g
Options:-

.Inertial wind
SIS e , Option ID :- 1025,

. Geostrophic wind
yfaerdt ua=r, Option ID :- 1026,

. Cyclostrophic wind
TehtTfaer Ua= , Option ID :- 1027,

. Gradient wind
Yqur ygH , Option ID :- 1028,
Answer Given:- Not Attempted

Question ID:- 280

Given figures represent nutrient profiles at a site in the tropical Pacific Ocean. Which one of the
following options correctly epresents these nutrients?

g 71 sfiehe Iwrehfed i U AR # Ueh WU WR Ulveh ded &Y U@ ht gufd &1 R=afafaa
# T i a1 RAehea Tl 82

Mutrient (i) Mubrient (M)
o 10 20 30 o 40 &0 120

Depth {m)
|
Depth (m}

Options:-

.A-nitrate, B-phosphate, C-dissolved iron, D-silicate

A-A132€, B-whidhe, C-fawifaa gt D-RAfedhe , Option ID :- 1117,
. A-silicate, B-phosphate, C-nitrate, D- dissolved iron

A- Riftde, B-Whi®the, C-wmsie, D-frwifi sier , Option ID :- 1118,

. A-silicate, B-nitrate, C-nitrite, D- dissolved iron

A-faferdse, B-A1sde, C-Arserse, D- fawfaa sigr, Option ID :- 1119,

. A-nitrate, B-silicate, C-phosphate, D- dissolved iron
A-ase, B-Rfdde, C-wiede, D- feifa wgr, Option ID :- 1120,
Answer Given:- Not Attempted

Question ID:- 164

Which one is the correct statement out of the following?




fA=fafea A 9 o9 91 98t Fua 82

Options:-

.Maximum flooding surface occurs above the highstand systems tract deposits. 31f9e&a# a1g g8
gIERE yurel 8 gty & Su= glar &1, Option ID :- 653,

. Regressive surface of marine erosion forms during forced regression. STeR= UfaiH= & ER=
|l shera Y ufarmt gs a=<dt @1, Option ID :- 654,

. Shelf edge delta forms during highstand normal regression. grg&g 9= Ufa i H+ & ERE
IUde YR BT 9=d1 &1, Option ID :- 655,

. Rate of sea level rise is lower than the rate of sedimentation during transgression. ¥¥qg a &
&R ¥ gfig A &= sraare Y R & sifasraor & SR &7 &1, Option ID :- 656,

Answer Given:- Not Attempted

Question ID:- 245
Statement A: Kinematics of fluid flow deals merely with description of fluid flow.
Statement B: Dynamics of fluid flows does not deal with fluid flow.

Which of the following options is CORRECT?

YU A: &g UdTg & Tfdeh chae ga varg & Reuor @ efaa 21
&Y B: ga varg & nfafierar ga varg @ gefaa a8 21
fAfafaa 7 @ i ar faee ad &2

Options:-
.Both Statements A and B are true.
1. Y A 3R B 41 9a €1, Option ID :- 977,

. Both Statements A and B are false.
&Y A 3iR B g1 319« 1, Option ID :- 978,

. Statement A is false; Statement B is true.
&Y A T §; Y- B 9 g1, Option ID :- 979,

. Statement A is true; Statement B is false.
&Y A 9 g; B &Y eI g1, Option ID :- 980,
Answer Given:- Not Attempted

Question ID:- 282

Ocean takes up significant amount of anthropogenic CO5.What is the primary reason behind this?

HAEHTR AaSIAdG CO, ft Agayet A ar 1 39 N urafae wror o g2

Options:-

.Phytoplankton consumes CO- during photosynthesis in the surface ocean.
Uy Wideh, 9da! HETHNR J UehIA WSAWUT & SR CO, T IUUNT &t & 1, Option ID :- 1125,

. Increase in atmospheric pCO, leads to more dissolution of CO5 in the ocean.

argHeEsa pCco2 # gfeg | w3 & CO,, o1 3ifdas fafera= ghar &1, Option ID :- 1126,

. Increased sedimentation leads to more COssequestration.

¢ g 3ra¥red & CO, i 21fdes @ud gidl g1, Option ID :- 1127,

. Zooplankton grazing has increased over time.




uforeaen &t w=Ts (AfSiT) T9g & g1y 9t g1, Option ID :- 1128,
Answer Given:- Increase in atmospheric pCO, leads to more dissolution of CO5 in the ocean.

argHEHg pCo2 # gfeg & Iz d CO,, 1 34ifdak fafera= glar &1, Option ID : -1126

Question ID:- 247

Identify the INCORRECT statement: Atmospheric boundary layer____

TTAd hU- il UgaH & argHsd g ST ora___

Options:-

.is characterized by turbulent motion
U= "eed Tfa giet & , Option ID :- 985,

. is associated with small Reynolds Number
Y Flead & & 919 GW6IF &, Option ID :- 986,

. is a layer where viscous forces cannot be ignored
TUeh URd @ STgT U™ Jell ahl ToiR3iETST A8 fohar ST YehaT &, Option ID :- 987,

. experiences a diurnal (daily) cycle of temperature, humidity, wind, and pollution variations
ATYH, 31T, gaT, 3R uguuT fafduarsii &, gar ufafes (3fAe) sk o1 srga @t &, Option ID :-
988,

Answer Given:- Not Attempted

Question ID:- 284

There are two particles, X and Y, on the sea surface. The density of particle X is twice the density
of seawater, while Y has the same has density as the seawater. If X's radius is thrice the radius of
Y, which of the following statements is correct.

g &Y Fag UR &l T X 3R Y &1 T X &1 °-ied SIS ST oh 9-Ied ol GR[HT &, STafch Y &1 e
Tl ST o O o 9AH 8 81 af X Y s Y & B fi farr @, @t Feafef@a d @ am e
HYT gl 21

Options:-

.Sinking velocity of X is 9 times that of V.
X T ga ST AT Y T 9 AT &1, Option ID :- 1133,

. Sinking velocity of X is 3 times that of Y.
X T g&t ST AT Y T 3 TFET @1, Option ID :- 1134,

. Sinking velocity of X is 18 times that of Y.
X T g ST ATY T 18 TFET &1, Option ID :- 1135,

. X might get deposited in the sediments but Y will not sink.
X a5 H ST gt Wehell g wfh Y 181 gawmi , Option ID :- 1136,
Answer Given:- Not Attempted

Question ID:- 262




Match the wave types in Column-| with their properties in Column-Il|

Column-I Column-II
P | Capillary V | Free waves in open ocean with gravity as a
waves restaring force
Q | Standing W | Free waves with surface tension as a
waves restoring force
R | Tidal waves X | Forced waves in open ocean with gravity
as a restoring force
S | Wind waves Y | Formation of Nodes and Antinodes
Z | Forced waves with surface tension as a
restoring force
Select the CORRECT option

DIaT- | H T USRI &l e Hiad- | 7 37 701 Y L
PHIaT- | HIad- |

P|®R@&I | V |9d A8FR H g& a¥l °d & I 0H
RO g & 9 H

Q| empEmdi e W $§£%lf&d¢lt{§dﬂldﬂ$ﬂﬂﬂﬂﬁﬂ$m
RISl | X | Qd H8RIFR H YUlied a3l o & a1 U
TR 96 & T H

S|ugdaadi | Y |3 3R ug @ FEiun
Z | yuiifed a8l Uy -1d & 914 U G-l 9 &
=9
el fadey g
Options:-

.P-W, Q-Y, R-Z, S-X, Option ID :- 1045,
. P-Z, Q-X, R-V, S-W, Option ID :- 1046,
. P-Z, Q-V, R-Y, S-W , Option ID :- 1047,

. P-W, Q-Y, R-X, S-V, Option ID :- 1048,
Answer Given:- P-W, Q-Y, R-X, S-V , Option ID : -1048

Question ID:- 288

Statement A: Benthic infauna plays important functional role in bioturbation.
Statement B: Oxygenic photoautotrophs synthesize chlorophylls and carotenoids.
Choose the correct answer

YA Q: aratede  # Raee siq:uforena agaygef srafere yfaewr Ramar g1

YA f: SR (SifafieiAa) uerrauifta, aaRifther ofik dRIEATasT &t H=afta & &1
g SR A
Options:-

.Both the statements are correct
T FUT @ &, Option ID :- 1149,

. Both the statements are incorrect
&=t Y= eI & , Option ID :- 1150,




. Statement A is correct but B is incorrect
&Y A Ggl g Afeha B i@ @, Option ID :- 1151,

. Statement A is incorrect and B is correct
&Y A eI g 3R B U@l &, Option ID :- 1152,
Answer Given:- Not Attempted

Question ID:- 174

In a two-way travel time seismic section with 101 traces and a trace interval of 100 m, the depth
to 1.0 s is 1000 m and the interval velocity between 1.0 s to 1.5 s is 3000 m/s. The dip of the
reflector that is observed at 1.080 s and 1.050 s on the first and last trace, respectively,
corresponds to a gradient of

uah, fEamft ot gwg @iy @s |, 101 srR@ur 31k 100 Hier & @ 3ieRTel & 91y, 1 s hi
Mg 1000 Her @ 3R 1.0 s & 1.5 s & i 3ia=rer a1 3000 Hiez/Adhe 81 wRrade &t afq, it uger
3R sifaw erg¥@ U shHar: 1.080 s 3R 1.050 s R i g, Y vaurar & &= gift |

Options:-
.3 m/km
3 dfez/fRt , Option ID :- 693,

« 3.5 m/km
3.5 Hiez/fRHt , Option ID :- 694,

« 4 m/km
4 wtez/faRHt , Option ID :- 695,

« 4.5 m/km
4.5 wi/fredt , Option ID :- 696,
Answer Given:- Not Attempted

Question ID:- 251
If the absolute vorticity of the flow is conserved, air moving northeastward in the northern
hemisphere will turn __ to compensate for the _ in the planetary vorticity.

gf varg &t FArder uffear ot w@féa forar srar 8, at 398 Mg, 7 IoR-gd Y 9k Je+t areft gan
gt uferar ff ___ & wrud A & g gz e
Options:-

.anticyclonically, decrease

&Ht, ufaererardt, Option ID :- 1001,

. anticyclonically, increase

gf&, ufaaskaret, Option ID :- 1002,

. cyclonically, increase

gfe ,aerareh, Option ID :- 1003,

. cyclonically, decrease
@, Tehardl, Option ID :- 1004,

Answer Given:- Not Attempted

Question ID:- 281




Match the column | with column I

Column-l (composition/deposits) | Column-ll (Locations)

A | Calcareous ooze E | Abyssal plain

Manganese nodules Continental shelf

B F
C | Metal sulphides G | Seafloor above CCD
D | Phosphorites H | Hydrothermal vents

Choose the correct option

PicTH-1 Bl HleH-1l A AT Hifoy

Pidd-| (composition/deposits) PHia-Il (Locations)
A 3ol E
B | T Aieg@ F | mergidm mide
C |y GehIzs G | OISl & W YgEad
D | BIEpRIScH H | Wy fog
e fadmed I
Options:-

.A-F, B-H, C-E, D-G, Option ID :- 1121,
. A-G, B-E, C-H, D-F, Option ID :- 1122,
. A-H, B-E, C-F, D-G, Option ID :- 1123,

. A-H, B-G, C-F, D-E, Option ID :- 1124,
Answer Given:- A-G, B-E, C-H, D-F, Option ID : -1122

Question ID:- 169

Antarctic and Greenland ice sheets store today about 2% of the
ocean water mass with an average 520 value of —45%; w.r.t.
SMOW. What would be the 620 of value (in %) of the ocean
water in an ice free world?

3feThicd R UFAS B dth Bl A1&Y TS AR & UF &b GoaHA
BT T 2%, 6120 HIHd HET —45%0 SMOW & TIU&, & Ty
Gyfed &l 31 9t Had gi+ar § 9qg & Url BT 5120 of BT AN

(%o T T gNTI?

Options:-

.0, Option ID :- 673,

. -45, Option ID :- 674,
. -0.9, Option ID :- 675,

. 9, Option ID :- 676,
Answer Given:- Not Attempted

Question ID:- 260
In a tropical cyclone, the conservation of mass requires




I hidaefia Tehard A geaHT= GReuT & fAY smasaehdar gidt 82
Options:-

.upper-level divergent flow.
FU-TR fager= warg|, Option ID :- 1037,

. weakening of the low-level winds.

A TR i garsil a1 AR glAT1, Option ID :- 1038,
. thunderstorms in the eyewall.

7 uxa # afea si=m, Option ID :- 1039,

. calm and clear eye.
eTid 3fiR W 3if&@|, Option ID :- 1040,
Answer Given:- Not Attempted

Question ID:- 261

Statement A: The Earth’s atmosphere became oxygen rich around 2.4 billion years ago - called
the great oxidation event (GOE).

Statement B: Photosynthetic bacteria produced first oxygen on the Earth.

Choose the correct answer?

YA Q: Yt T AGHSA T 2.4 3R AT Uget STFHIS G5 a9 14T - U RS gde
(Shraits) et Sirar 1

YA Y gt THedwew dadiRar 7 gedt uR ugern sifafier Iaare faan
gl R gA?

Options:-

.Both statements are correct and B explains A.
ZHl ey 9l @ ik B, A &ht aueaT &t g1, Option ID :- 1041,

. Both statements are incorrect.
41 u= 711 &1, Option ID :- 1042,

. A is correct but B is incorrect.
A 98} g Jifera B /o1 @1, Option ID :- 1043,

. Ais incorrect but B is correct.

A 71 ¢ «ifehsT B 9@l @1, Option ID :- 1044,

Answer Given:- Both statements are correct and B explains A.
2T hYU=T Il @ 3R B, A Y =urear &t &1, Option ID : -1041

Question ID:- 163

Choose the correct statement:
el HYA -

Options:-

.Ichnofacies indicates paleobathymetry. Feh-TIth {1, qRT- 311X &l & aw=ar &1, Option ID :-
649,

. Ophiomorpha is a horizontal burrow along the bed boundary. 3iThiiwf TR fi Har & a9 e
afast fa=r &1, Option ID :- 650,

. Laminae truncate against burrow. ifehT faet & fawg wedt &1, Option ID :- 651,

. Thalassinoides is only produced by crabs. IeTRAIgEd hae charel grRT Afda gid &1, Option ID
- 652,




Answer Given:- Not Attempted

Question ID:- 236

Stranded or raised beach deposits, marine shell beds and wave-cut platforms backed by steep
cliff-like slopes indicate a

A. Fall in sea level

B. Rise in sea level

C. Uplift of land

D. Subsidence of land

Choose the correct option:

Ipferd T IN gQ Tz e gy, Tl haa TR, TR ZRI FIE T4 agar St @I agH Sl st

A. 995 & wR | fiRmae

B. 99z & &R # gfg
C. Yfa & U=

D. 4f& & Sraae
& Rrerea T
Options:-

.B, Option ID :- 941,
. D, Option ID :- 942,

. Aand/or C
A 3ilR/4T C , Option ID :- 943,

. Band/orD
B 3ilk/at D, Option ID :- 944,

Answer Given:- A and/or C
A 3iR/aT1 C, Option ID : -943

Question ID:- 238

Which one of the following is a bank-attached arcuate-shaped feature developed along the
convex banks of meander bends?

FA=fafEa d @ &9 @ g dege 919 & TR arelt sigpfa & sit fad gamat & 3w« fhart & Tty
farnfaa gt &2
Options:-

.Ramp
3, Option ID :- 949,

. Riffle
3re@rfaert , Option ID :- 950,

. Point Bar

faadt Afdert, Option ID :- 951,
. Braid




Tfthd , Option ID :- 952,
Answer Given:- Not Attempted

Question ID:- 241
In the given figure, identify the clay minerals that usually appear in soil due to weathering of

plagioclase feldspar with increasing rainfall:

g g R A, a1 @fA<t f uga™ R St AR R aedt qut & a1y @St theswuR & saer
& orur A d g 24 &

9% Clay in Soil

2000 4000

Annual Rainfall {mm)

Options:-

.(A) Gibbsite(B) Montmorillonite (C) Kaolinite

(Q) frearge () AfemiRetarge (+H) Henfemrse, Option ID :- 961,
. (A) Smectite(B) Gibbsite(C) Kaolinite

(Q) Sererse () freare () H3ifeTse, Option ID :- 962,

. (A) Montmorillonite (B) Kaolinite (c) gibbsite

(Q) dieniRearge () Fsiformge () frerme , Option ID :- 963,

. (A) Kaolinite (B) Gibbsite(C) Smectite

(Q) henferrse (f1) frearse (Y) WereT3E, Option ID :- 964,

Answer Given:- Not Attempted

Question ID:- 235

In general, which one of the following types of breakers DOES NOT produce net shoreward
movement of sediment

IR dR R, A U & s 7 @ e 91 U aeioe & A deE-a HTRUT Rl I gl hedl g
Options:-

.Plunging 3/@=5=t, Option ID :- 937,

. Surging a@=ffid, Option ID :- 938,

. Spilling 31fawATa=, Option ID :- 939,

. Collapsing faara=T, Option ID :- 940,
Answer Given:- Collapsing fAura=r, Option ID : -940

Question ID:- 222




For a symmetric matrix
6 3 2
A= [3 5 Il.
2 1 4

the narrowest bound within which all eigenvalues (1;,i =1,2,3) of A
should lie is:

U THIAG 3f1eg (R & ferg
6 3 2

A=[3 5 1]1
2 1 4

ﬁmmmw,ﬁw ASTH I (4,0 = 1,2,3) 8

Options:-

.[2,15] , Option ID :- 885,
. [0, 9], Option ID :- 886,
. [-1, 9], Option ID :- 887,

. [1, 11], Option ID :- 888,
Answer Given:- Not Attempted

Question ID:- 219

Consider a situation wherein the magnetic anomaly in the horizontal component, at some station,
over an ore deposit is zero and the anomaly in the total field is twice that in the vertical
component. Such an ore body can occur

e O} A iR AR &, S fhelt R R, ua srawes A8y iR Jaehia et sus éfast aew
#, 3 ¢ ok wgof &9 § (i SwaftRaer dalHi g1 dwomsn s gt aapar gl
Options:-

.nowhere on the earth geaft oz &gl 781 , Option ID :- 873,

. at many latitudes g 31efizif ur, Option ID :- 874,

. at only the magnetic latitude 300N aet gahra aretizr 30°N R, Option ID :- 875,

. at only the magnetic latitude 60°N. dhaer garchia 3retizr 60°N TR, Option ID :- 876,
Answer Given:- Not Attempted

Question ID:- 171

Occurrence of Fe-Mn nodules in an ocean basin implies
Teh HEETRIT 289 & Fe-Mn fust Y ufafa sfa et @

Options:-

.Low sedimentation rate and stable environmental conditions.

& FHTE & 3R AR yafearofia f&xf1, Option ID :- 681,

. Proximity to the Mid-oceanic ridge.

A-HETHFRIY heeh ¥ fAiredri, Option ID :- 682,

. Presence of ocean core complex.

HETHTR &R shireiad &Y 3ufAfA1, Option ID :- 683,

. Presence of benthic organisms.




